[@]
|t —

wrIR7

SATO PARTS

LINE-UP CATALOG

www.satoparts.co.jp

T



SATO PARTS
PRODUCT GUIDE INDEX

M Introduction

OFEMIIEAB Satoparts are everywhere <« oo 6 Q@A) 1—LRBFEDTHBN
@A ROATITDUNT weoververerersereestaseintiseis st 51 What is SCRWLESS TERMINAL BLOCKS -eeeeeesssnrneeessneneesnneeeeens 8
Ay 1—-LABFE g gAUREBTE .
SCREWLESS TERMINAL BLOCKS TERMINAL BLOCKS
‘ O NEARF PCB Type ++++ 10 o O 7)) NEARFH PCB Type -+ 17
ONVEfHFE Solder type -+ 14 — OEEY. BRER
Ohif 21 7 Relay-type -+++---- 15 s Panel-throgh type, High voltage type
L 20
O/\5{FFE Solder type «+-+++++- 21
Ohff R Relay-type «--eeeeen 22

@A 73> /\—"Y Optional parts 24

g E1—XFN5— 27

FUSE HOLDERS

kAR KE 21— XK E— OHER 1 )\ ST Solder type

Waterproof In_L|ne type .................................... 28 .%ﬂ : *ME In-LIne type ..........
@ £B#IRH7KH 7+ Multi-Purpose Waterproof capsules OFSE | PCHEF PCB type --+veveeees
.................................................................. 28 OEE : \UAIETF Solder type .
O1FE : 271 31— L AHEHR Screwless type-««---+--+- 29 O 2 KB FUSE+eeerererereeresssessssassseseneneseneneaeens
.*ﬁﬂ : pcﬁi"ﬁ‘% PCB type s++reseesesresnasueriinniiainns 29 .1&%7‘/—Ft1—1 Low-Plofile Blade Fusg-««««+-+++- 34
@R | ZIURTF Screw terminal type «eeeeeeeeeeeeeees 29 @737 5—"Y Optional parts ««+-seerseesseesseerseenees 35
—_ - :
o "L 36 m /v 39
INDICATOR LIGHT KNOBS

. ‘ OLED 7354vh A T @ T —JUR Plastic «+reerrrrerernenes 40
\ LED INDICATOR LIGHT «+++--e 36 = @AZIL Metal -weeveeveesvennnns 41
o) 3 ®3A2 TSk |
)p NEON INDICATOR LIGHT ---38
PIN PLUGS & JACKS -

B a—=3IFW

BINDING POST

43 M FIT %9y
TIP PLUG &JACKS

m arvesbhe AXRE— i 43
CONNECTOR

&48

T/ 9k .

BUSHINGS/LUG TERMINAL STRIPS

m AC77hLv b V7

AC OUTLET/CLIPS

m 77EYY—

ACCESSORY

ﬁﬁSO



BIZ INDEX

L T X g Y 0 0 N 13
[ T T Yo T N Y Nt 13
L T 400 0 N 1 N 10
L T 400 T N L 2 10
[ T 2T T o ] Nt 11
L T =00 T LY 2 N 11
ML-850-HAX  ++++errrrrrrreeeeeesmmmmmmniiiitittteeseasnninrerreeeeessssnnnnnns 14
IML=8B50-HBX  ++++++eeereeeerrrmmmmmmmmmiiiiiiaeeaeeeeeterrttttiitniiiiins 13
L T =50 N | = 220N 13
ML-=850-VAX  ++rrrrrrrrrrrrreereeesammmmmniiiittttteesesannniinrareeeeeesssnnnnnes 14
[ T 0 Y = Nt 13
ML-850-VBY :rrserrrrrrrrreeeesammmiiiiiiiirittaeeeeaanniiiniierreeeeeessnnnnnn 13
ML-8BO0-HAX  +++rrerrrrrrrrrreeeeemmmmniiiirittteeeeesnniiirireeeeese s 14
[ o 0 N [ =) Nt 13
LTI =TT | = 220N 14
ML-=8BO0-VAX  ++rrrrrrrrrrrrrreeeesammmmnniiirtitteeesasasneinrrarrereeeessnnnnne 14
[ IS o 0 Y = Nt 13
ML-8B0-VBY +rrserrrrrrrrreaeeeammmiiiiiiiiitttaeeesaniiiinirirreeeeee s 13
L T < 0 T 12
[ T 2T 2T Ko ] Tt 11
L T = =0 T2 N 12
L [ = T 11
LTI T Yo T T T LT T 11
[ T T Yo o 1 TN 11
L T I Y T2 12
IML=1 400-S2L ++vvvvrrrrrreeeeeessmmmmmmiiiiitittteeeanniiiirrreeeeeess s 13
L T 12T Y0 T N 11
L T 0 Y0 1 N 16
T 070 X = T T LT 16
LTI Y0 X o T T N 16
L T 0 Y0 T 0 T 16
L T T Y0 1 16
L T T Yo 2 =S N 16
LTI =T Y0 o LT 11
IML=1800-S L ++rvvrrrrrrrreeeeeesmmmmmuuiiitttttteeeeanniirrrrreeeeesessnnnnnes 12
[ T T Yo TN 12
IML-2200-S 1 +++++++srrrrrrrrrrrreeeramsmmsiunirrrrraeeeessnnsnnnrrarreeeeeeannnnnnes 12
ML-2200-W 1 ST rrvrrrrrrreeeeeesmmmmmmmiiiiiititteeeeaniiiireeeees e 12
[ [T Yo T TN 10
L 2. T 0 Y0 1 [N 10
L T 1000 T2 = 15
[ T 100 Y0 1 1 = N 15
L [ Tc 0 Y0 TRt 12
LTI 40010 T T LT 15
[ T 0 Yo Y | N 15
LY 1 40 0 Yo 1 = Y, N 15
SL-4O00-AS ++++++rrrrrrrrrrrrerartrammiiiiiiittttee e e e e e e s 15
SL-4O00-ASH ++oreeeererrrrrrmmmmmtiiiiee et 15
SL-4000-ASY +++rrerrrrrrrrrrraeermminiiiiiiiiitteeaaa e 15
SL-4000-AWSH +++vvrrrrrrreeeeeeeammmmmmiiiiiitteeeseaniiiieeeeess s 10
SL-4000-AWSY +eeeereerrrrmmmmmmiiiniiaeaeteaeettttttii s 10
SL-4000-CWSH :+++vrrrrrrrrrreeerammmmiiiiiirirreeeeeaaniiiiiiiirreeeeeesnnnnnnns 10
SL-4000-CWSYV ++rvvrrrrrrerreeeeemmmmmmiiiiirittteeeesnniiiriieeeeeessssnnnnne 10
SL-A500-AS +++++rereeeererrrrrrnnttttii et e e e e e e et 15
SL-4500-ASF :+rrerrrrrrrrrraeerammmmiiiiiitittaeeeeaaniiiiirrrreeeeee s 16

SL-A500-ASH :cteerrreresteteeomimmuruciiasssiniiiaiiiesisiiiiesiimsismeesssosneroes 16

SL-A500-ASY ++roeeeeererrrrrmmmmmmmiiiiiae ettt 15
£y I 50 1010 I 12
LY 21010 10 TV 2T 12
LY 2 100 0 Nt 11
Ly I 5 1010 Y 25 11
SL-BO0 ++rrrrrrrrrererrsmmannnntttttateaeeaaa e e e s e e a e e e e e 14
LY 270100 0 =1 =R PNt 14
V=1 +evvvrrmnnnnnnnneeeeeeeeeee ettt e e e e e e e e e e e e e e e e e bbb 23
L T T 5 T | = 23
L T T ¥ ] = Pt 23
I < N 22
L T2 0 T 23
T2 Pt 22
T 0 o =N 17
L T X g Y Y0 24
IML=40-3G T +srrrereeeerrrrrrmmnnnmmnuiiiiaaeeaeeeeeeaaetttteeertbtaaaeees 24
L T g Y N 24
[ X g Y T 24
ML= 0= +rrrrseereeeererrermmmmttiiiiiiiiiaaeaaeeeeeeaaeeeeaeeeatttaaaaeees 24
L T X g YT I N 24
ML-40-STAXS/E  erreerrrereeesemmmmmiiinnrttaeeeeeannnnniiinriiaeeeeeesnnnnnnnn 21
ML-40-STBXS/E  -+eeeerereeeeeesmmmmmmmiiiittttteeeanniiiiiiiieeeeeees s 17
ML-40-STBYS/F  -:rrrereeereeeesemmmsisiuurirriraaeeananiiiiiinrieeeeeeessnnnannnns 17
ML-4O-WTBYS/F  -:rreerreeeeeeremmmmmsumunrrrteeeeeannninnnniiiiaeeeeeassnnnnnnn 17
ML-4O-W3BYS/E -:reeereeeeeeeesemmmmmminmnitttteteanniiiiiiiieeeeeesssnnnnnn 17
ML-41-STAXS/E  ceeerrrerrreaeeeemmsiiiiinneriieeeeeeaaiiiiiiiriereeeeeessnannnns 21
ML-41-STBXS/E  eerreereereeeeemmmmssuunnrrraareeesnnninnniniitaeeeeessnnnnnnne 17
ML-41-STBYS/E  eeeeereeeeeeeeemmmmmmiinittttteeaanniiiiiiiieeeeees s 17
L T 0 Y T o N 24
[ T 0 1 3 I 24
L T 0 X 1 24
L T 0 1 1 N 24
[ T 0 1 I 24
ML-50-STAXS/E  eeeerrreeeeeeesmmmmmuuiiiitittteeeanniiiiiiiieeeeeees s 21
ML-50-STBXS/E  :+rrrereereeeeeresssssiuurnreraaeeeeaniiiiiiiisiereeeeessnnannnns 19
ML-50-STBYS/F  :errrereeereeeeeemmmssssumnrrrreeeeeaniniisniiirirraeeeassnnnnnnn 19
ML-5O-WIBYS/E  -:eeeereeeeeeeessmmmmummnmnritteeeeannniiiiiiiieeeeeesssnnnnnnns 19
ML-50-W3BYS/F ::rrrreeeeeeeeeeessssrsiuururrraaaeeeaniiiiiiiiseeeeeeeesssnannnns 19
ML-=51-STAXS/E  eeererrrrreeeeeammmmssunnirrteeeeeasnnisininirireaaeeesnnnnnnnn 21
ML-=51-STBXS/E  eeeeeereeeeeeeeemmmmuuunnmtttteeeaanniiiiiiitireeeeesssnnnnnnne 19
ML-51-STBYS/E  :errreeeereeeeeeesmmsiiiunrrrerraeeeanaiiiiiiissieeeeeeesssnnnnnns 19
[ 4 0 Y 22
[ I N TRt 21
[ Ty N = 17 =2 PN 17
[ [ A N o T 25
[ I ard = 0 TR Rt 22
[ T a4 = 1 = 77 =T PN 19
[ [ drd = T o T 25
ML-=TO0-AS  +eeerrrrrrrrrrrrrraeeeeeanniiiitttttteeeeasssrrrrreeeeeeeee s s 17
[ T T 0 = 1 TPt 17
[ T 100 25
LTI 00 M 0 T 18
T 570 0 TNt 22
L T 1500 T 22
ML-250-3C  ++++++rrrrrrrrrrreaeeeesammmnuunnnntteeeeesesnnnnnisrrareeeeesesnnnnnnns 25

ML-250-STAXS/F ++rreeeeeeeeeessmssrirnrrrriareeaaaniiiiiiiiitteeeeee s, 21
ML-250-STBYS/F  -+-vveeeesrrreeeemsirreeaniiiieesiiiieeeasiieeeesineeee e 18
ML-250-S2GYS/E  ++rreveeersrrrreeesssrureesssiuniensisieeaasiieeesssneeeesnnnns 18
ML-2B0-4C :++++rrrrrrrrrrrrrreeemmmmiiiirrrrrreeeeeeasiiiiirrrereeeeeeesennnns 25.26
ML-260-STABXS/E vvreeeerrrrrreessirrreaiiiireesiiieraaiiieeeesiiesaesanes 21
ML-260-STBBYS/E :vrreeeerrrrrreesssureerssisrrensiisieeeasisreeensniaeesnnn 18
ML-260-S2GBYS/F ++rreeeeeerrsssrrrrrrrrrareeeaaiiiiiiiiiieereeeeesssnnninnnee. 18
ML-260-S2HBYS/F vvveeeesrrrereessirrreaiiiiieesiiiesaasiieeeesiiesae s 18
ML-270-7TC +eeeerrerereesssnrrreesssnreansiseeeasitttesssseeeeassssaeessnsaeessnnes 25
ML-270-STABXS/F ++ereeeeeerrssssnrrrrrrraaeeeaaiiiiiiiiiiitereeeeesesnninnane. 21
ML-270-STBBYS/F :vvveeeerrrrreeessirreeaiiiiieeiiiieraaiiieeeesiieeeenanes 18
ML-270-S2GBYS/F +vvreeeerrrrrreesssruraesssiuiressiiiureansisseeessnneeennnes 18
ML-270-S2HBYS/F -+eeeeeeeeersessrrrrrrrrrraeeaaniiiiiiiiiitereeeeesssnnnnnnne. 19
ML-28O-8C ++reersvrreeersrrreeesirrreaniiiireeaiiteeeesitteeeessiseeeesiaeeeeeanes 25
ML-280-STABXS/E rvvveeerrrrrrreesssrureesssisirensiiueeeasineeeessnnaaesnnns 22
ML-280-STBBYS/F +ereeeeeeerrssrrrrrrrrraaeeeammiiiiiiiiitereeeeesssnnnnnnnne. 20
ML-280-S2GBYS/F +vrreeeerrrrreeersiureeiiiiiieeiiiieeeaiiieeeesiieeeesanes 20
ML-280-S2HBYS/F +vvreeeerrrrreeasssrureessiiuiiensiiireaasiiseeassnnnaennne 20
[ T o TR SN 19
IML=35 () --vvvveeeesnrreeeaminreeeasiisteeasiitee e ettt e e e stbr e e e s bt e e e e saaa e e e eaaes 20
Y T 7 T X o~ S 25
[ T 2T R T 1 =] =SSN 18
ML=T4O-WTRF -++vrreeeesrrrreeesirereeniiieeeeiiteeeeeiite e e sitee e siaee e e 18
ML-750-C2 ++reerrvrrreesssrrrremssureeansiireeasisesesasseeeaasssseeassnesaessnnes 26
LY T4 Y0 T T = = P 19
[V T Y0 [ T SOOI 23
ML-=1000-3HT ++svreeeerrrrrrresssurreaniiireeniiiressiieeessiieeeessnneees 24.25
Y T 0 1 Y0 T 1= 24.25
ML=1000-3H4 -++vvveeererrrreeemirteeaniiiitee ettt e e ettt e et e e 25
ML-=1000-3HS -++++rreeerrrrrresssrrrransiiirreaiiiiieesiiteeeasiseeeesineaaesnnes 25
LY T 0 10 Y0 T [ T e 25
ML=1000-3HOD -+++rreeeeerrrrreemirreeaniiiireeeiiieeeeeiire e eiree e siaee e e 25
LY T 0 T Y0 1 1 S 24
Y T 0 1 Y0 0 1 o e 24
ML=1000-4HS -++vvveeeeerrreeeemirteeaniiiite ettt ettt 25
LY T 0 T Y0 10 1 1 PP 25
ML=1000-4HS ++++veeeerrsrrreemrmrrremniiireenniiireesiieeeeniseeeanns 24.25.26
ML=1000-4HG -+++vveeeerrreeermirrereaiiiiiee et et 24.25.26
LY T 0 10 Y0 10 1 Iy PP 25
Y T 0 T Y0 0 1 1< e 25
ML=1000-4HOD -++vvveeerrrrereeiirrereeiiiie et e et 24.25.26
ML=1000-4HT O ++reeeerrrrrrremssrrreaniiiireeaiiiireenieeeessiieeeesineaaesanes 26
LY T 0 T Y0 1 1 I P 26
ML=1OO00-B1 +eeervvrreeeermrreeemiriieeiiitite e ettt e e ettt e et e et e e 26
ML=1T7EB5-C  +eeeerrvrrreessrnrrremsireeeaniiieeeaitieeessireeeessisaeeesaaeaaesanes 23
LY T o R o T e 23
[N TR R Lo I o RO USROSt 23
LY T I = - OO E 22
LY T Tc T B T o T e 22
ML-5000-C 1 +++++rrrrrrrrrrrreaeeemmmmmiiurrrrrrraeeeeaaniiiiireereraeeeessssnnnnneee 26
[V TH 010 10 X 07~ 1P 26
LY TS0 10 10 N 0 R T e 26
ML-5000-MB  :+++rrrrrrerrereeeemmmmiiiiirirrrereeeaasiiiriiirteeeeee e snnnnnnnes 20
ML-5000-IME  ++++vreeerrrrrrremsirrrrraniiireeaiiiereesiieeeessiteeeesiaeaeeeanes 20
ML-5100-C1 +reerrvrrreesrsnrrremsssreeensiuireesiiiteessiseeeeassssaesssneaaensnnns 26
[ TR T 0 Y0 X 2N 26
(Y T R LYo X 0k TSP 26
ML-5100-IM5  ++-ereeeerrsrrreemsrureeansiiireeniitiressiseeesasiseeeesineaeesnnes 20

ML-5100-MB  :++errrrrreereeeeeemmmmiiiiiriiriraeeeaasiiiriiereeeeeee e saninneees 20
ML-5200-C 1 +reevvrrreesrrrrrremsirrreaniiirreeaiiieressiseeeassiseeeessneaaesnnes 26
LY T 52 Y0 1 0y~ L e 26
ML-5200-CB:++++vrrrrrrrrrrraeeeemssmsiiurrrrrrieeeeeaasiiiisnsstetreeeeesasnnnnneee 26
LY TI ST~ Yo 1 1 O 20
ML-5300-C1 +reerrrrrreerrsnrrremssssreeanniireesiiietesaiseeeaasiseeesssneeeessnnes 26
[ TS Yo Yo Y N 20
T NP 26
0 T = T 26




BI& INDEX

F=730 vveeeessereeemmmnneeanitiee ettt e et 30
[ C o =0k I OO N 35
F=75(0) eveeeerrsrrreemsnsneennittaeeiititeeesittee e st e e e et e e e et e e e aaaa e nes 29
(o 0 =0 TN 35
(=210 10 N T LTS 28
(10 10 O T LN 28
(o T o T LT 28
[ 1 0 o J T OO N 28
F=85 () crreeeerrrrrreessnrreeanittteeiititee ettt e et a e e s e e e e aa e 31
2 Y0 I N 31
[ 01010 Ko IO SO N 35
F-1500  ++eererreeeerrrreeasssereeaiiiteeniisteeeassteeessastaesessaeaeasnsaaeaanes 34
e T 7 T N N 30
[ Y a0 N T OO N 31
[0 1010 1 N T LT N 33
[0 1010 1 = TR N 33
[ T o B T N OO O N 31
= T T TN 29
= T Y SN 30
[l Y S OO PN 32
[ = YN 33
(o 110 T LT LR 31
[ T o N T OO N 34
= T 4 SN 31
[ T 0 T TN 34
(= W2 0 N OO O N 34
FiG-BD vveeeersrrrreemsrrereanititreeiittte e ettt e e e st e e e s sab e e e e e e e e e 34
[ T TN 34
(YN~ 0 720 X OO N 34
LS 0 =0 1 = PP 34
[ 0 120 T Y A 34
BIN-2 coverreeeemittte ettt ettt ettt e et 38
2] N < 1 TN 38
2 N < 0 TN 38
2] N T N 38
2] T2 N 38
2] N T 5 SN 38
2 NS0 TN 38
BN-B802  cvvveeeesssrrereasirrreeiiiiieeaiiitteasiteeessitee e s saa e e iaae e 38
BN-SBB5  +ovvvveeeerrrreeassrureeaniiitteenitteeesiiieeessnsteessssseeesssseeesanes 38
BN-SBBE  +vvveeeeerrrreessaumrtetiiiitteaiiitteaaiiite e st e sttt 38
o N 0 N T TN 38
1) = 0 0 =N 36
1) = 2 =N 36
5] = T 1 =S OIS 36
1) = 00 = NN 36
1) = 00 0 = N 37
() = I = i N 37
1) = 0 5 1 =N 37
1) = 0 =N 37
(5] = 0 2 1 =SS 37
1) = T =N 36
5] = 0 0 1 =N 36
(5] = T T T =N 37

1) = T [ 5 Y0 = PN 36
(5] = T iy 20 =N 36
1) = 0 < 0 =N 36
) = T2 5 Y0 = PPN 36
(5] =1 [0 1 =N 36
1) = 00 1 o 1 =N 37
(9] = I K o Y = [ PN 37
5] = I 1 T =N 37
(5] = I 1 0 = N 37
T PN 40
2 T = T OIS 40
TN 40
= TN 40
[ 1o TN 41
2 T TSN 41
2 17~ 2N 41
[ i T TN 42
2T T T LT N 42
2N 42
P OIS 42
Gy AT N 42
= TR N 42
o2 L = TSRS 42
2 L i NN 42
= N 42
P51 OO RN 42
K=BIB ++++vreeeersrrrraeasirtteeastttte e sttt e e ettt e e e e e e e e e a e 40
KT < vevvveeennnnneeeaittte e ettt e e e ettt e e et e e e e e et e e e e nes 40
[P =T OIS 40
R 1010 TN 40
2010 TN 40
[ 1o NSO RN 40
2o T TN 40
2 10 TN 40
2N o YN 40
P C 1010 N T N 40
510 TN 40
e Lo T N 41
R L= Lo ST N 41
2510 Lo T LT 41
2= 10 N T N 41
P N0 4o TN 41
[ Ty A T TN 41
P10} L0 T PN 41
ot =10 1\ Y N 41
. N 42
S T~ PPN 42
(oY N o TN 42
R =Y 4 5 N 42
P10 100 TR PN 41
S0 4T T TN 41
O Ao o T TN 41

Aveyh - ARGI—/EVTSITIvYY

—SFWN/FvTIvvo

o TN 43
o 7N 44
5 PP 44
2 44
I 1 TR PP 43
I 172 T~ PP 43
I 2 T 43
I ST P 43
I 15 T PP 43
7 1 S 44
I I 4T 1~ T PP 44
T-B75-16 eeevrrerereeeeeemmmmiiiiiiiiiiteeeeeeaiiiiiirrraaae e e e airaarereeeaee s 44
T = 3 1 1~ 44
R T R I N T T T T 44
I 1 1C 10 T PP 44
010 2 T 44
510 2 T 44
T-38B() vvvevrrrrrrrreeeeetmmiiiiiiittitiaee e e e e e e e 44
5151010 T [~ T 44
T-B500-16  rrrereeeeeeeermmmmmmntiitttttettenniee e e e e e 44
T-B53() vvveerrrerrrreeeeetmiiiiiiiitttrtaee e e e e e e e e aa e 44
o T 45
8 T2 45
o 22 = PP 45
o 0 45
T T 2 N 45
T T X = T PP 45
I 0 Y0 T 46
TU-BBD  +vvverrrrrrreeeeeenmmmiiiiiitttta e e s e e e e e e 45
TU-BBB  coveerrrrererreeeeeeiiiiiiiiiitttae e e e a e e e 45
I 0 T 2 45
R R N AT LT 45
SA-2000-56 ++++rrerrrrrrrrrrraaeaammiiiiiiirittiaaeeaaaaaaaaa e 45
SA-2000-563 ++++rrrrrrrrrrrrrrrrraaararaiiiiiiitiiitaaeeaaaiaaaae e 45
B VIR [0 70 57 L S O PO PN 46.47
U200 10 N T 47
TU-300  -rveeerrrrrrrreeeenemmniiiiirtttteee e e aa e e e e e e e e e 47
Lo 10 1 = T 48
L3200 11T APt 48
LI {0 1 = T N 48
Lo 0 TN A 48

AP
BU_1 00 .................................................................................... 49
BU-200 reeererrerrenseeuttiiiiiiii it 49
BU-BE87 cevveerrrrrmntemminttiiiiiiiiiiii i 49
BU-BO2 tccevtrrrettuntrtiiiiiiiiiiiiiiiiiiiiitiiiitisissiastesseines 49
BU-3270  oeeeeereerseeutttuiiiiiitiiii ittt 49
BU-47OB  oeeeeeeernntemmmttiiniiiiiiiiii i 49
BU_4801 ................................................................................. 49
BU-48B5()  +eereeerereerrentmutiiiiiiiiii i 49
L-BOQD weverrneerunettuttiiiiii i 49
[ 537~ R 49
I 115 2 T P P 49
L-4885  cevvvrerrrtruntettiiiiiiiiiiiiii 49

INAXFIAR—H—
SA-T OO cwereererernerernntetunitiuniiiiitiiiittiiititieiiittietiestiestisietnn 50

mFARTARY (BLARAXRY - BEEMRY)

SA-10T0-CO0OT rrrrereerrrrrreemsiirreeiiiiteesiieeeasireeesneee e siaeeeeas 50
SA-1010-CO02 vvvreerrrrreeemmsnrrreeiiiiiieeaiiiteeaniiteesaitreeeesiseeeans 50
SA-T1OTO-COTQ vvrereerrrrrreemiiitee ettt ettt e et 50
SA-TOTO-COT T rrrvreremrrrrrreemsiiirte ittt e e e 50
SA-TOTO-COT2D +rrrvrreeerrrrrrremniirteeiiiiieeaiite e site e s eiieee e eniaeee e 50
SA-T1OT0-COBSD -+vvreeeererrrrremmiriieeeiiiieeeeiiteeeesiiee e e et e e eiree e 50
(oY N W0 0 X 0 0 =7 RN 50
(oY N 0 B 0 0 0y 2 BN 50
SA-1010-COBQ :+++rrrrrrrrrrrrraaeesmmmsiiiiiiirrteraeeeeaaiiiiiiiieeeeeeaeaaannes 50
SA-TOTO-COBT vvrereerrrrrreamsirrrieeiiiiteeiiite et e e 50
SA-T1OT0-COB2 +vvvreerrrrrreeemsuirreaiiiiiieeaiiitteasiireesaiireeeessseeeans 50
SA-10T0-COBB :+rrrrrrrrrrrrraeeesammiiiiiiiiiiirareeeaaaiiiiiiirreeeeeee e 50



HEAVT 72X ZDTN—I\—YDEH

T/ ODZEZZ 5.
é@ L/7LL_7<%E' t'f_

ﬂﬁﬂﬂﬁg:\@ Ship @ |

AL E DIRIE) CRILOHITEEIC,

BME{CIERAED
BERATH®IET A

FRE AR 7K
b2 - —

t)l/ 1,_551_ Building automation

\/_

atoparts are everywhere

TOEMU EICE->TILINAZVRAEFEERZ. SEXIEXRS \E‘T

VDG, HEDREDI=HIC, Fhfcb

lFnhobiEHE

Japan Quality | 75 2R EsEnE A 1EANSTH
— [n]s] Eﬁw%%;lﬁ.b—(b\i—g—o E =|=. ‘l‘\b
&FEHMEA R EREET, BR 5% PI BE

EILA— A= 3 PERBOXAE  BIBIEEDEA NI,

I
|
b |

DINL—JLIT
IV FCER T

IR AR TEREER TES
ATVa1—LRHFE

BAPKAKERRE ﬁi_lﬁbl*)lﬁ\’— DRI,

Ea—X
RILY—

Ry>vOvI=R <y
Z20Va—LREFE VUvT=ER

IﬂN e L y

|

e Q

I*}l/q:_Fﬂi_ Energy industry

.III
lll
nnn
III
4

LEDEREAD Ak - AVikER il n Oy hO—)LY Y = - HIfHBOX. BiRRERE T,

/I' I‘/ﬁ—j_"f‘/)( yl\EgiE Entertainment

K-2901

— K-6

K-8075 '

E-IRGAT/XFILE
17 SHCAR

SL-4000
(S vald

EAEE
b2 —XRILT—

~
E Railway
| AL, R —

122

SL-4000
oY —ftedsn  BBCEREEOER EFERE

HH

B)IR_s

kG F&

LR7 R EDBIRTHRE - > U —hiflkic,

b1 —XRILY—

;\LEE%BQL Highway

ETC’PﬁJE@H EVR Y R a ERIGIEER B DREIEIC,

S 5 o
F-700~F-720 @ ML-7000-ME @

Evy—rhilteE s EGER REAREDT =T
(4 £ =LY — TR - K

tﬁﬁéﬁifﬁﬁ%%’)b‘ N AC

HHRBOFTFVENSTIHE HERD
RFBATEZ0T. ARNEIZ SN
H—BUREREET,




iR

What is SCRWLESS TERMINAL BLOCKS

MRYVRFIEITT, EREMEICER - BiR

A7) 1—LRixFE

I Q@RA7')1—LARImFEDXIY b

TR EEDLEE, TEULERD AIEEIC Easy & Quick Connection

A7) a—LRmFEIE. ATV T DRFEITER. FEEDIF)VICBERRL, EEIC
EHENTEET,

IRENTHREEI. ATFIRAT7YU— Maintenance Free

ATV ETEREEE URtlT27cth. XIRmFEDRIDIBUMDDESBAYTFY
ASRBEHDEE A,

EERFEDEME. QAN DVICH Save Time & Cost

MY VBETRERIT BIEFTEENT T, (EEREIEHESN. AMFEDRIRICDBAD R
EL

VIV RE&ET T, BAR—AEL&ERE1L Compact Design

KIDBRLKEEEBNNS KB >TWBeH, RIRIHETFRICHNTEIR—ALIBRE{LS
nctwxd,

O h—/IN—YDR7')1—LRAIGFEFSTIIDEEAEE

Button Lock No Special Tool

EELPTLY HERTITERLT

ROy e EHEH T EE

MRy »LN—%0vo L. FFTH NAFARZAN=12ELHNIX, 8

ERCEBIA TN BT F v Ts B TEET,

Color variation Wide range of wire
(Solid&stranded)available.

ho—EEe% WALV XD

BB A *(( R PRI I

HS—RBIE>T, EERPBLLH BB RBOTHICHEL. HNE

BBAETLET. D EANEDRRE BT TT.

EhicHEEBANEEVWEIWVS
Test hole Wire Strip Gauge
Bm&ic . ERZFKERIC,
L Frv/lERE . ANIYYTT=Y

| ERER - ROF Ty RED R

~— .
EHild 3 ATy 7 TRT! FERROME!
Simple 3 Steps Easy release

BEZHKRSHDVOEBTOHIDET,

NG V%, BiREEUIAD, NGV =BT ETET | YU TR SR
Push Insert Release Push & Release

MBRAE—T 1, BEAEEDETEN! L:i'

Movie of how to connect.




17 l) i R UZ%?]‘:’? SCREWLESS TERMINAL BLOCKS

IR

SATO PARTS

17 IJ i R UZﬁiﬁ?"ﬁ‘ SCREWLESS TERMINAL BLOCKS

HEIRZT
SATO PARTS

10

| ML-700-NH

mTEEYF
Pitch (mm)

254

7V b ERA
% .ﬁ 50V-3A
ating
*% & 2~20
oles
B#2 (Solid Wire) :00.32mm~»0.65mm
(ERTREE SR | AWG28~AWG22
Wire Range | #4 (Stranded Wire) : 0.08mm?~0.32mm?
AWG28~AWG22
BRI PN
Ovelrseas standard (D“ @ A
fis & 1R
Remark horizontal

PCB type

| ML-700-NV

mFEEYF
Pitch (mm)

254

T ]
Rating S0V-3A
L 2~20
Poles
848 (Solid Wire) :00.32mm~¢0.65mm
(AR B EE | AWG28~AWG22
Wire Range | #4% (Stranded Wire) : 0.08mm?~0.32mm?
AWG28~AWG22
BRI s
Ovelrseas standard ®“ @ A
s & HiEEY
Remark vertical

HZ—NJI—23>: OW @GY @B @R

ML-2300

mTEEYF
Pitch (mm)

Y @G @BL @BR (WLISHIHHESR)

(Made by order except "W"(White).)

E | 300v5A
Rating
B B 00
Poles
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(ERREE SR | AWG26~AWG16
Wire Range | ##% (Stranded Wire) : 0.2mm?~0.75mm?
AWG24~AWG20
BHIRIE 3
Overseas standard O A
fis & /B
Remark compact design

HZ—=N\JI—23>: OW @GY @B @R

ML-2300-H

mFEEYF
Pitch (mm)

Y @G @BL @BR (WLISMIHFHER)

(Made by order except "W"(White).)

£ B a00vsa
ating
B o0
Poles
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(BRI RTRE B e | AWG26~AWG16
Wire Range | #A#% (Stranded Wire) : 0.2mm?~0.75mm?
AWG24~AWG20
Ove;riitﬁﬁiard O &
s & NEY
Remark compact design

HZ—N\JI—-3a>: OW @GY @B @R

SL-4000-AWSH

mFEEYF
Pitch (mm)

3.81

Y @G @BL @®BR (WLISMNEHHESR)

(Made by order except "W"(White).)

HZ—=N\JI—23>: OW @GY @B @R

SL-4000-AWSV

Y @G @BL @®BR (WLISHI4FER)

(Made by order except "W"(White).)

E | 300v5A
Rating
B B 2581012
Poles
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(BRI E SR | AWG26~AWG16
Wire Range | #4%# (Stranded Wire) : 0.2mm?~1.25mm?
AWG24~AWG16
BHIRIE :
Overseas standard O L
5 # 2E—R&RA 7 1R
Remark 2 piece connector, horizontal

o

HFREYF

Pitch (mm)

3.81

E & 300v.50
Rating
B W 5581012
Poles
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(BRI RTaE B EsE | AWG26~AWG16
Wire Range | ##3 (Stranded Wire) : 0.2mm?~1.25mm?
AWG24~AWG16
BHLRE :
Overseas standard 8|\ AN
fis & 2E—ARA T #itd
Remark 2 piece connector, vertical

HZ—NJI—23>: OW @GY @B @R

SL-4000-CWSH

mFREEYF

Pitch (mm)

3.81

Y @G @BL @BR (WLISHIHHESR)

(Made by order except "W"(White).)

HZ—=N\JI—23>: OW @GY @B @R

Y @G @BL @BR (WLISMIHHESR)

(Made by order except "W"(White).)

SL-4000-CWSV
£ B s00v-5 i E | 300v-5A
ating , Rating
B 2581012 B 8 2.5.8.10.12
Poles Poles
B2 (Solid Wire) @ ¢0.4mm~@1.2mm B2 (Solid Wire) :¢0.4mm~¢1.2mm
R RTABSEE | AWG26~AWG16 BRI AWG26~AWG16
Wire Range | #4#5 (Stranded Wire) : 0.2mm>~1.25mm? Wire Range | #A#% (Stranded Wire) : 0.2mm?~1.25mm?
AWG24~AWG16 AWG24~AWG16
SBHNRNE N mFEEYF BHRE -
Overseas standard| " * T £ !ﬁPitci(mm) Overseas standard| "t T &
s # Pl C RN ] fis &= Py CE N ]
Remark 2 piece connector, horizontal 3.81 Remark 2 piece connector, vertical

HZ—NJI—23>:OW @GY @B @R

Y @G @BL @BR (WLISHIHFEMR)

(Made by order except "W"(White).)

HZ=NJI-23a>: OW @GY @B @R

Y @G @BL @BR (WLISHIHFESR)

(Made by order except "W"(White).)

)

®  (ETA—IRDAYI TG TT
[H US recognized for field wiring

| SL-6100-H

BFHEYF
Pitch (mm)

3.81

E 18

Rating 300V-7A
m ~
Poles 1~20
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(B AaE B e | AWG26~AWG16
Wire Range | ##3 (Stranded Wire) : 0.2mm*~0.75mm?
AWG24~AWG20
SBHMRIE -
Overseas standard 0, VAN
s & 31}
Remark horizontal

| SL-6100-V
I——

mFEEY F
Pitch (mm)

3.81

E | 300v.7A
Rating
O ~
Poles 1~20
Bi#% (Solid Wire) :¢0.4mm~¢1.2mm
(R E SR | AWG26~AWG16
Wire Range | #4#§ (Stranded Wire) : 0.2mm>~0.75mm?
AWG24~AWG20
SBHNRNE :
Overseas standard O A
fis = e
Remark vertical

HZ—=N\JI—23>:OW @GY @B @R

ML-800-S1H

ImFEEYF
Pitch (mm)

Y @G @BL @BR (WLISMIHHESH)

(Made by order except "W"(White).)

E .1r§ 250V-10A
Rating
i SN
Poles 1~20
842 (Solid Wire) : ¢0.4mm~¢1.2mm
(AR E g E | AWG26~AWG16
Wire Range | ### (Stranded Wire) : 0.2mm?~1.25mm?
AWG24~AWG16
BoIRIE P
Overseas standard O @ AN
fis & R
Remark horizontal

HZ—=N\JI—-3a>: OW @GY @B @R

ML-800-S1V

mTEEYF
Pitch (mm)

Y @G @BL @BR (WLISHIHEHTS)

(Made by order except "W"(White).)

IE -E 250V-10A
ating
BB 20
Poles
Bigg (Solid Wire) :¢0.4mm~@1.2mm
(ERREEGERE| AWG26~AWG16
Wire Range | ## (Stranded Wire) : 0.2mm?~1.25mm?
AWG24~AWG16
BRI P
Ovelrseas standard (D“ @ A
fis & HEEL
Remark vertical

HZ—N)I-23a>: OW @ GY @B @R

ML-880-S1H

mFEEYF
Pitch (mm)

50

Y @G @BL @BR (WLISHIHHESR)

(Made by order except "W"(White).)

T & 300V-10A
Rating 150V-15A (B#R¢p1.6mm)
1w ~
Poles 1~20
B2 (Solid Wire) : ¢0.4mm~¢1.6mm
(EAReE s EE | AWG26~AWG14
Wire Range | #44% (Stranded Wire) : 0.3mm?~1.25mm?
AWG22~AWG16
TBIRIE

Overseas standard

O 0@

HZ=NJI—232:OW @GY @B @R

| ML-950

mFEEYF
Pitch (mm)

Y @G @BL @BR (WLISMNIFFER)

(Made by order except "W"(White).)

E M 300v.7A
Rating
LT ~
Poles 1~20
B2 (Solid Wire) : ¢0.4mm~@1.0mm
(EFRARE B | AWG26~AWG18
Wire Range | ##3 (Stranded Wire) : 0.8mm?~0.75mm?
AWG22~AWG20
BINRE

Overseas standard

N 0@

fis &

Remark

WRBEETE Y1 FARSA/N—
(#HEG3mm. F5i1E2.5mm~3.0mm)
Recommended tool: Slotted Screwdriver
(diameter: @3mm, tip: 2.5mm~3mm)

HZ—=N\JI—23>: OW @GY @B @R

| ML-1400-S1

ImFEEYF
Pitch (mm)

Y @G @BL @BR (WLISMIKSTR)

(Made by order except "W"(White).)

£ B s00v-108
ating
B ~
Poles 1~20
{EFATTREESERE | B4R (Solid Wire) :00.65mm~¢1.6mm
Wire Range | AWG22~AWG14
B o
Overseas standard n @ A
fis & BiRER
Remark Solid Wire only

K ORBITITIEHRBRIFREANITEVEL A,

ML-1400-S1L

mFREEYF

Pitch (mm)

5.0

£ % s00v-10n
ating
% # ~
Poles 1~20
{EFTTRE B EE | H4% (Solid Wire) :¢00.65mm~¢1.6mm
Wire Range | AWG22~AWG14
BIVRIE W
Overseas standard “ @ A
s & BiREM
Remark Solid Wire only

HZ=NJI—-23>: OW @GY @B @R

| ML-1600

ImFREEYF

Pitch (mm)

50

Y @G @BL @BR (WLISMEHFEMR)

(Made by order except "W"(White).)

E 18

ERunE 300V-7A
B B 5
Poles 1~20
B2 (Solid Wire) :¢0.4mm~¢1.2mm
(EA RS EE | AWG26~AWG18
Wire Range | 43 (Stranded Wire) : 0.2mm?~0.75mm?
AWG24~AWG20
oI N
Overseas standard O @ AN

HZ=NJI—23>:OW @GY @B @R

ML-1800-S1

| erspoteeteh

mTEEYF
Pitch (mm)

Y @G @BL @BR (WLISHI4ETR)

(Made by order except "W"(White).)

E 18

Rating 300V-10A
® ¥ ~
Sl 2~32 (f&%) Even number only
[ERATALE L EE | B4% (Solid Wire) :90.65mm~@1.6mm
Wire Range | AWG22~AWG14
BIIRIE W
Ovelrseas standard ®“ @ A
fis & 2B BiRER
Remark 2-tier type, Solid Wire only

HZ—=NJI—23>: OW @GY @B @R

Y @G @BL @BR (WLISH34HER)

(Made by order except "W"(White).)

HZ=NJI—23>:OW @GY @B @R

Y @G @BL @BR (WLISHI4HER)

(Made by order except "W"(White).)

“ AN s

FT4—=IRTA Y THIETT
recognized for field wiring

@ 1P ISEXBIAGEDBETY o

mark is available upon request when ordering

11




17 l) i R UZ%?]‘:’? SCREWLESS TERMINAL BLOCKS

IR

SATO PARTS

17 IJ i R UZﬁiﬁ?"ﬁ‘ SCREWLESS TERMINAL BLOCKS

HEIRZT
SATO PARTS

| ML-1800-S1L

| ML-2200-W1S1

| ML-1400-S2L

| ML-400-NH

T % . T 1 PO - E 1
e | 300V-10A Eas | 300v-3A VR < e | 300V-10A S| 250v-7A
L 2~32 (f8%) Even number onl B # ” B
~ y R ~ I ~
Poles Poles 4~40 (1830 Even number only e a— %ole? 220 Polas 1~15
{RFETHEEARIGE 42 (Solid Wire):90.65mm~¢1.6mm 812 (Solid Wire):00.4mm~¢1.2mm 812 (Solid Wire) :¢0.4mm~¢1.0mm
Wire Range | AWG22~AWG14 (BRI ESEE | AWG26~AWG16 (~18: TUV) (ERATAESEE | 248 (Solid Wire) :¢0.65mm~@1.6mm BETECEHE AWG26~AWG18
ps : iBoLRIR : " : Wire Range | ## (Stranded Wire):0.3mm?~0.75mm? Wire Range | AWG22~AWG14 Wire Range | #s (Stranded Wire) : 0.3mm?~0.75mm?
”WP?FEEE:/?: Overseas standard 2 SCAN !ﬁF?FH:Fj?: AWG22~AWG20 AWGZZLTWSBZO ire. mm mm
itch (mm, itch (mm 3 ,
# = | 28w snem BARE | cev. A ovrmmsiniars| N @ L BAGE W 0@
Remark 2-tier type, Solid Wire only 5.0 Overseas standard | — ¢ TeeUS HFREEYF HZEEYF Overseas standard
$5—/UI->32OW @GY @B @R Y @G @BL @BR (WLUHHHER) H5—/UI-v2> OW @GY @B @R Y @G @BL @BR (WLSHEHIR) S % = |wunsm S # = | I AR NI U T—Sahl
(Made by order except "W'(White)) (Made by order except "W'(White). Remark Solid Wire only 7.62 Remark horizontal, Color variation not available
| ML-2100 | ML-2200-S1 H5—/WI-a>:OW @GY @B @R Y @G @BL @BR (WLUSHHES)
(Made by order except "W"(White).)
e ————— = 1% _ T iR
. V-7A . V-3A
Rating | 3% - Rating | 200V°3 ML-400-NV ML-850-HBX
B 120 L S P
‘ Poles Poles E & 250v.7a E 1 | 250v-20a
S e e | B4R (Solid Wire) :¢0.4mm~¢1.2mm 843 (Solid Wire) :p0.4mm~¢1.2mm Rating e Rating
Wire Range | AWG26~AWG16 BRI EEEHE AWG26~AWG16 (~18 : TUV) BB |
=z ey BRI O A BZRI Ly F Wire Range | #42 (Stranded Wire):0.3mm?~0.75mm? Poles *%ole? 2
Pitch (mm) Overseas standard Pitch (mm) AWG22~AWG20 842 (Solid Wire) :00.4mm~¢1.0mm
5 £ |EnEA izAv - BOROR -\ } FRRAEGEE AWG26~AWG18 (EFIRTAE RS AGE | 4% (Solid Wire) :¢1.6mm~¢2.0mm
5.0 Remark Solid Wire only 5.0 Overseas standard| Ve TS £ Wire Range | #4% (Stranded Wire) : 0.3mm?~0.75mm2 Wire Range | AWG16~AWG12
HS5—NUI—>3>OW @GY @B @R Y @G @BL @BR (WLISHIEES) H5—/WI—>a>:OW @GY @B @R Y @G @BL @BR (WLISMNHFER) AWG22~AWG20
(Made by order except "W"(White).) (Made by order except "W"(White).) e BN OR -\ YN
SL-6000-H SL-6000-V EFREEYF Overanas standard N 0@ HZREYF Overseas standard
Pitch (mm) Pitch (mm)
# = | BE AR AT NUI-SaVhL % = | smsEmn
E % 300V-10A E K 300V-10A 7.62 Remark vertical, Color variation not available 9.0 Remark Solid Wire only, horizontal
Rating Rating
B TSN SBILDPIRE B % SEEICEY) ZRRLH T
Poles Car|1_b|e |nte|r|ocked together to make Polos Can be interlocked together to make
multiple poles. multipie poles, ML-850-HBY ML-850-VBX
B#% (Solid Wire) :¢0.4mm~¢1.2mm Bi#% (Solid Wire) :¢00.4mm~¢1.2mm
{ER AR AWC26~AWG1S R BiRGE | AWG26~AWG16 E | o50v-20A E M| o50v-20A
Wire Range | #445 (Stranded Wire):0.2mm?~1.25mm? Wire Range | #4142 (Stranded Wire) :0.2mm?2~1.25mm? Rating Rating
PRy F AWG24~AWG16 7y F AWG24~AWG16 % I%ﬂz 2 7% l%& 2
Pitch (mm) = R 7T — LSS S ) G T TI— LS 0es S oles S
RFﬂ . horizontal, fis & vertioal, (BRI ATAE B ER | 3543 (Solid Wire) :¢1.6mm~¢2.0mm r (BRI E M | B4R (Solid Wire) :¢1.6mm~¢2.0mm
5.08 emark | Ferrulesi0.25 mm?-0.5mm*(AWG24-20) 5.08 Remark | Forrylesi0.25 mm?0.5mm*(AWG24-20) Wire Range | AWG16~AWG1 2 Wire Range | AWG16~AWG12
HF—1NUI—>a>: OW @GY @B @R Y @G @BL @BR (2&i%ER) HS5—UI-va>: OW @GY @B @R Y @G @BL @BR (2&/ZER) mFREyF BHBE | DA A ImFREEYF BABE | DA A
Pitch (mm) Overseas standard Pitch (mm) Overseas standard
s &= BRE . R fis = BRI, R
ML-3300 ML-870-H Remark Solid Wire only, horizontal 9.0 Remark Solid Wire only, vertical
- E & .
"5:’-:’—:"'-" Tl Rating 300V-10A E " *ﬁ 300V-10A
£y atin
i *% | 2 4.8.12.16.20.24.,28,32.36.40 ¢ ML'850-VBY ML-860'VBX
oles
R _— B2 (Solid Wire) :00.4mm~¢1.2mm P T % 3
oo EEAaERE AWG26~AWG16 Poles | 2 Rating | 290V"20A fati:;s 250V-20A
Wire Range | #4#% (Stranded Wire) :0.2mm?~1.25mm? B 2
AWG24~AWG16 R RS B4 (Solid Wire) :90.8mm~¢2.0mm Poles w 3
; - ] 7| 545 (Solid Wire) :¢1.6mm~¢2. Petes
PRy F BHRE | 0N A Wire Range | 43 (Stranded Wire) :0.5mm?~2.0mm” B A o2 gmm
Pitch (mm) Overseas standard BPEEyF — : (RBRTREBARER | g9 (Solid Wire) 91.2mm~02.0mm
5 & 2pR Pitch (mm) & = fam mFREEYF BYNR O -\ YN By F Wire Range : :
5.08 Remark 2-tier type 6.9 RZmark ho::izontal S Overseas starlard S fis #= BIREA. s
T, N o . s & BRE . MR il %57 . Mt .
H7—/NJI—->3>: OW OGY @B OR Y @G .m.a:eBgy g\ﬁlééﬁiquﬁ)wwwmte).) EYETs Solid Wire only, vertical 10.0 Remark Solid Wire only, vertical
ML-880-S2H | ML-1400-52
= % Joovion P E R a0vi0n ML-860-VBY ML-860-HBX
Rating 150V-15A (E#zp1.6mm) ' : Rating
& E & . E & g
%oég 020 %ole? 220 Eating 250V-20A B 250V-20A
B2 (Solid Wire) :¢0.4mm~¢1.6mm {imﬁjﬁﬁ%ﬁﬁ B2 (Solid Wire) :¢0.65mm~¢1.6mm & F_—
(ERALESEE AWG26~AWG14 Wire Range | AWG22~AWG14 Poles 3 Poles 3
Wire Range | #445 (Stranded Wire) :0.3mm?~1.25mm? BASHE | ey
P P B E— -
e AWG22~AWGTE SR | Oversess standerd s SRRMRRAEOE w52 (Solid Wire):01.2mm~g2.0mm RSB w4z (Solid Wire):1.2mm~2.0mm
SBINRIR oMW 0@ B = ET e ImFREEYF mFREEYF
75 Overseas standard Rk Solid Wire only Pitch (mm) w = o—— Pitch (mm) s = .
H5—NJI—3>:OW @GY @BOR Y @G @BL @BR  (WLISMIA TS HS5—N\JI—3>:OW @GY @B @OR Y @G @BL @BR (WLISMEFER) 10.0 Remark Solid Wire only, vertical 10.0 Remark Solid Wire only, horizontal
(Made by order except "W"(White).) (Made by order except "W"(White).)

® “ °  FT—IURTAVUIHIETT. @ SD [FEXEHAREDPBETT ® “’ “ FTA—=IRTAYIVTHIETT. @ SP [FEXEHAEEDBETT .
[H US recognized for field wiring mark is available upon request when ordering [H US recognized for field wiring mark is available upon request when ordering

12 13



17 l) i R UZ%?]‘:’? SCREWLESS TERMINAL BLOCKS

IR

SATO PARTS

17 IJ i R UZﬁiﬁ?"ﬁ‘ SCREWLESS TERMINAL BLOCKS

HEIRZT
SATO PARTS

| ML-860-HBY

iR AL 7 Relay type

E M| o50v-20a ML-3000-2P ML-3000-4P
Rating
an o il E 5 l300v-10 £ & |300v-10n
Poles 3
_\.*ﬁ%‘ BB em B | 1@m
[RRMIRERARORE sis (Solid Wire):1.2mm~2.0mm ‘ 842 (Solid Wire) : 0. 4mm~a1 6mm 542 (Solid Wire) : 0. 4mm~@1 6mm
wmFREEYF R TTaE S | AWG26~AWG14 A E S | AWG26~AWG14
Pitoh (mm) L p—— —— [8 Wire Range | #44% (Stranded Wire) : 0.3mm*~1.25mm” o 40) 8]_[8 Wire Range | #44% (Stranded Wire) : 0.3mm’~1.25mm’
10.0 Remark Solid Wire only, horizontal AWG22~AWG16 AWG22~AWG16
HZ7—NJI—23>: OW @GY @BOR Y @G @BL (2&/F%ER) HZ—=N\JI—2a>: OW @GY @B OR Y @G @BL (2BIF%EE)
S ML-7000
AW Z £ Solder type |
E .5 l300v-10 *7vavq
| SL-8000 & | ERCSUSEIATR
el Can be interlocked together to make ML-7000-PM
E .ﬁ 300V-10A oles multiple poles.
e 818 (Solid Wire) : ¢0.4mm~¢1.2 B2 (Solid Wire) : ¢0.4mm~¢1.6mm ML-7000,”ML-7000-MER BIEE—ILK
olid Wire) : ¢0.4mm~@1.2mm ; K R !
_ N (EATReEsEE | AWG26~AWG14 Mounting frange for ML-7000/ML-7000-ME
RRETRERIEE AWC20-AWG1S _ . SL-8000-EP Wire Range | #4## (Stranded Wire) : 0.2mm’~2.0mm?
Ire Range A% (Stranded Wire) : 0.2mm“~1.25i ~
g Srandeq Yire) : 02mm~1.25mm SL-B000D IR I T . RAROBEAEEREL i AWG24~AWGT4
S — T2347>a>TL—hTT. TBIRIE O A
I ’S\nz)l’igz‘éljthi}t"t_”f}m An optional plate for mounting at each end of Overseas standard “
Remark Ferr[L)JIIes:O.25 mmz-%J.5mer?2(’AWG24-20) L:%Sr#oﬁggggt %glgver he sap between unt PTTIWETaOW GGY @B OR 1Y @G @BL OB (RRitEe)

#SL-8000%/\RIUCE I /o356 . BIRICIRED TEEY . SL-8000D @il BRI T BFRD

14

BRIEERELY 57 7S a0 S B EAEE T, ML-7000-ME
HZ—N\JI—->3>: OW @GY @B OR Y @G @BL @BR (2&IF%ES)
E % #F & | 300V-5A
Rating | SOOV-10A Rating | (2~5PIXDC300V-5A)
ML-850-HAX ML-850-VAX B g | ERCEUSELATR B ® | 5c8 1012
Polos Can_be interlocked together to make Poles T
= i W multiple poles. B8 (Solid Wire) : 90.4mm~¢1.2mm
- Rating 250V-20A Rating EE A Bi#% (Solid Wire): sepgamem | AWG26~AWG16
‘ @ ¢1.6mm~¢2.0mm AWG14~AWG12/ AR
-omm=oe. - Wire Range | #44% (Stranded Wire) : 0.2mm>~1.25mm?
7%0'5;5( 2 %0'6? 2 :fftsz WD) Eﬁ\gv?rjeﬁg Eﬁ? ©00.4mm--91.6mm AWG26~AWG14 ikv?z(miﬂwwgw e oem "
AIARZ > 2 : .
- #iR (#MRDA) (Stranded Wire) : > S N
(BETAEESEHE | 245 (Solid Wire) :¢1.6mm~@2.0mm (T4 S | 254 (Solid Wire) :¢1.6mm~¢2.0mm (The front button is white 0.2mm?~2.0mm? AWG24~AWG14 TR F BIE | 0 R A
Wire Range | AWG16~AWG12 Wire Range | AWG16~AWG12 oni. : Pitch (mm) Oversezs standarg
g 8 TBIRRE s A & = 2E—284(7
" BARE | e, A " " BRE | DRl A Overseas standard - 3.81 Remark | 2 piece connector
ﬁ'ﬁ; E‘f (tm; )9: Overseas standard y “ jﬁp?t :‘i"(fn; ?: Overseas standard "s “ H5—/NI->3>: OW OGY @B OR Y @G @BL @BR (2&iZ#E) H5—NUI—-23>: OW @GY @B @R Y @G @BL @BR (WLISHIHHESR)
% = R fis = Pz} (Made by order except "W"(White).)
Remark horizontal Remark vertical SL'4000'ASH SL'4000'ASV
- T & 300V-5A < . T 1% 300V-5A
ML-860-VAX ML-860-HAX < Rating | (2~5PI3DC300V-5A) Rating | (2~5PI3DC300V-5A)
BB 2581012 B B 2581012
E *g E *g oles oles
Rating 250V-20A 5 Rating 250V-20A Bifg (Solid Wire) : ¢0.4mm~@1.2mm B4R (Solid Wire) : ¢0.4mm~¢1.2mm
(EA R B EsE | AWG26~AWG16 (ERTRE S EE | AWG26~AWG16
®m O B Wire Range | #4% (Stranded Wire) : 0.2mm?~1.25mm? Wire Range | #4#§ (Stranded Wire) : 0.2mm?~1.25mm?
Poles 3 Poles 3 AWG24~AWG16 AWG24~AWG16
wmFMEyF BARE | e, A WmFEEYF BAEHE | DA A
ﬁ?v?fgéibf@ 818 (Solid Wire) : ¢1.2mm~¢2.0mm ﬁﬁ?ﬁﬁéﬁ;ﬁiﬁ 849 (Solid Wire) : ¢1.2mm~2.0mm Pitch (mm) Overs%as s;ndard e Pitch (mm) Oversﬁe;as st;-ndard e
S Iy . - ] -
ﬁp?t Ei] (tm; ?: ﬁ“jﬁ Ei"(fn; ?: 3.81 Remark 2 piece connector 3.81 Remark 2 piece connector
fis & BREA. MR ) fis & RS, MR ) HZ—/NI—>a>: OW @GY @B @R Y @G @BL @BR (WLSHSHHER) H5—/)I—>a>: OW @GY @B @R Y @G @BL @BR (WLHNLHEER)
10.0 Remark Solid Wire only, vertical 10.0 Remark Solid Wire only, horizontal (Made by order except "W"(White).) (Made by order except "W"(White).)
SL-4500-ASV | SL-4500-AS
£ 1 pegoov-10a E | pc3oov-10A
ating Rating
w - B -~
Poles 2~ Poles &e
BiR (Solid Wire) : ¢0.4mm~¢p1.6mm B8 (Solid Wire) : ¢0.4mm~@1.6mm
BRI B AWG26~AWG14 (R B AWG26~AWGT4
Wire Range | #4#& (Stranded Wire) : 0.2mm?~2.0mm? Wire Range | #4& (Stranded Wire) : 0.2mm?~2.0mm?
AWG24~AWG14 AWG24~AWG14
mFEEYF BHRIR : mTFEEYF BHIRIE N
Pitch (mm) Overseas standard ®"“"“ A Ehtieln (i) Overseas standard @c“us A
s & 26—A&17 i & 2E—2&A7
5.08 Remark 2 piece connector 5.08 Remark 2 piece connector

@ ° Y ET71—=IRTA VI IRIETT
“ I:“IIS recognized for field wiring

HZ—=N\JI—23>:OW @GY @B @R

Y @G @BL @BR (WLISHIHFER)

(Made by order except "W"(White).)

HZ=NJI—23a>:OW @GY @B @R

Y @G @BL @BR (WLISHIHFEMR)

(Made by order except "W"(White).)

"N

®  E T —IRTAY I THIETY
[H US recognized for field wiring

15



17 I) i R UZ%?]‘:’? SCREWLESS TERMINAL BLOCKS

IR

SATO PARTS

*9ﬁﬁ?ﬁ TERMINAL BLOCKS

HEIRZT
SATO PARTS

| SL-4500-ASF

E & | po3oov-10A E I pc3oov-10A
Rating Rating
LTI B ~
Poles 2.3 Poles e
B2 (Solid Wire) : ¢0.4mm~@1.6mm B2 (Solid Wire) : ¢0.4mm~@1.6mm
(RS AWG26~AWG14 ERTAaEREE AWG26~AWG14
Wire Range | ##% (Stranded Wire) : 0.2mm>3~2.0mm? Wire Range | ##% (Stranded Wire) : 0.2mm>?~2.0mm?
AWG24~AWG14 AWG24~AWG14
mTEEYF SBHVRNE N mFEEYF ARG -
Piteh/(mm) Overseas standard 0, VAN Pitch (mm) Overseas standard 08|\ AN
% 2 |2c—2&(7 L
5.08 Remark 2 piece connector 5.08 Remark 2 piece connector

| SL-4500-ASH

HZ—=NJI—23>:OW @GY @B @R

SL-4500seriesE il

SL-4500-ASV

Y @G @BL @BR (WLISMNEHEESR)

(Made by order except "W"(White).)

SL-4500-ASF SL-4500-ASH SL-4500-ASV SL-4000-ASV
ML-1700-A | ML-1700-B
: E J& l300v-108 E & 300v.10A
ating Rating
BB 20 BB 420
Poles Poles
EEE B#2 (Solid Wire) : ¢0.4mm~¢1.2mm EEE B#% (Solid Wire) : ¢0.4mm~¢1.2mm
(s OO |pmamnim AWG26~AWG16(AWG24~TUV) (Ed7) (ERA S EE | AWG26~AWG16 (AWG24~TUV)
) Wire Range | 4% (Stranded Wire) : 0.3mm®~1.25mm” - Wire Range | 44 (Stranded Wire) : 0.3mm*~1.25mm”
mTEEYF AWG22~AWG16 mTEEYF AWG22~AWG16
Pitch (mm) N Pitch (mm) N—
5.0 Ovelrseas standard ®“ @ A 50 Ovelrseas standard @“ @ A

HZ=N\JI—23>:OW @GY @B @R

SL-4000seriesH {1

SL-4000-ASH

Y @G @BL @BR (WLISMIHFER)

(Made by order except "W"(White).)

SL-4000-ASV

HZ7—NJI—23>:OW @GY @B @R

ML-1700-C

Y @G @BL @BR (WLISHEHHEMR)

(Made by order except "W"(White).)

= & 300v-10 E M 300v-10A
ating Rating
LT - B ~
Poles 1~10 Poles 1~10
EEE B4R (Solid Wire) : ¢0.4mm~¢1.2mm EEE 842 (Solid Wire) : ¢0.4mm~@1.2mm
s OO |@mmemisgsm AWG26~AWG16 (18H71) {EFRAREBAREEE | AWG26~AWG16
Wire Range | 48 (Stranded Wire) : 0.3mm?~1.25mm? Wire Range | #48 (Stranded Wire) : 0.3mm?~1.25mm?
mFEEYF AWG22~AWG16 mFREEYF AWG22~AWG16
Pitch (mm) Pitch (mm)
BIRIE W B " @
50 Overseas standard oW @ 50 Overseas standard oW @

HZ—=NJI—23a>:OW @GY @B @R

Y @G @BL @BR (WLISHEHHESR)

(Made by order except "W"(White).)

ML-1700-E | ML-1700-F
= & 300v-104 E 1 300v-10A
ating Rating
BB 20 BB 420
oles Poles
B2 (Solid Wire) : ¢0.4mm~¢1.2mm B#3 (Solid Wire) : ¢0.4mm~¢1.2mm
- (ERAREESERE | AWG26~AWG16 (AWG24~:TUV) - (BRI ATaE B EaR | AWG26~AWG16 (AWG24~:TUV)
(g O——CO | Wire Range [ 445 (Stranded Wire) : 0.3mm?~1.25mm” (HB7) g H g Wire Range | ##s (Stranded Wire) : 0.3mmP~1.25mm’
AWG22~AWG16 AWG22~AWG16
mTEEYF BIIRIR W mFEEYF B " @
pit(;(mm) Overseas standard ON @ A pit:h(mm) Overseas standard ON @ A
s = DINL—JLERfF&A T fis & DINL—JVERf &1 T
Remark DIN rail mount Remark DIN rail mount

HZ—=N\JI—-3>:OW @GY @B @R

| ML-1700-D

Y @G @BL @BR (WLISHEHFEMR)

(Made by order except "W"(White).)

HZ—N\JI—23>:OW @GY @B @R

Y @G @BL @BR (WLISHIAFER)

(Made by order except "W"(White).)

HZ7—=NJI—23>:OW OGY @B @R Y @G @BL @BR (WLISHIHHER)

(Made by order except "W"(White).)

HZ—=NJI—-23>: OW @OGY @B OR Y @G @BL @BR (WLISMIHFESR)

(Made by order except "W"(White).)

® \ " ET A —IRTAVUSIHIETT .
“ G“IIS recognized for field wiring

16

7V MEIRA  PCB type

| ML-30-AP

IEFREEYF
Pitch (mm)

9.45

E M o50v.6A

Rating

BB 420

Poles

WmFRY | u3x6
Terminal screw

BIRIE W
Ovelrseas standard “ @ A
F7avIN=y
P25

ML-40-S1BYS/F (tLRXD/BESMFEXD)

XFE1TDERTY

IEFREEYF
Pitch (mm)

7.62

XFE1TDERTY

ImFEEYF
Pitch (mm)

7.62

KFE1TDERTY

ImFREEYF

E .ﬁ 250V-10A
Rating
BBy
Poles
TS S: ELZAXT . M3X6 Sems screw
e | T AERART M3X7.2
Screw with a square washer
BIRIR \ :
Overseas standard ®“ @@

*F7aviN=y
>P.24 |

ML-40-W3BYS/F (ELRXD/BEEHFEXD)

| ML-40-S1BXS/F (tLAXD/BESFERD)

E & 5500104

Rating

BB 20

oles
g S ELAARXRI M3X6 Sems screw
(REAS | F mERMRY.MIXT2
MFEATDEHETY Screw with a square washer

pm BIRIR \ :
mFEEYF Overseas standard o @@

Pitch (mm)

7.62

A72avN=y

option parts

>P.24

ML-40-W1BYS/F (tLARXD/BESFERD)

E 2500104
Rating
w
Poles 30
w5 sy | ST ELAARRIM3X6 Sems screw
TR EA | mERAE, M3xT 2
KFRITDEETY Screw with a square washer
- BHNRIE N :
wFEEYF Overseas standard “ ®@

Pitch (mm)

7.62

& 250v-104
ating
B
Poles 20
s S ELARI . M3X6 Sems screw
e o | BERAR M3X7.2
Screw with a square washer
B \ :
Overseas standard “ ®@

ATavIN=y
P24

| ML-41-S1BXS/F (£A%

K /BEEFERD)

& l250v-10n
ating
® # ~
Poles 1~20
S S ELAXT . M3X6 Sems screw
o | BERART M3X7.2
HFEITDERETY Screw with a square washer
B N
wFEEYF Overseas standard ®“ ®@

Pitch (mm)

F7avN=y A7avN=y
P24 762 >P.24
ML-41-S1BYS/F (LALARZRZ/AERGERY) ML-77A-BYF
E B . E B
Rating 250V-10A Rating 300V-15A
1w ~
Poles 1~22 1%0'3;5( 2~8
5 S ELARI . M3X6 Sems screw .
1 BERY F mERART.MAXT.2 BFET | Max7.2
erminal SCreW | qorew with a square washer Terminal screw
B . pm BRI N
Overseas standard O ®@A "'ﬁiﬁﬂ(t 7 ?: Overseas standard ®“ é‘
Iitch (mm

Pitch (mm)

7.62

ML-100-AS

mFREEYF

Pitch (mm)

7.62

F72aviN=y
>P.24 |

7.62

E _1@ 250V-7A
Rating
B B 12.20.36
Poles
ML-100-P (PI
ﬁ'ﬁﬁﬁ,ﬁ M 00-P (Plug)
Combination |\ 400.AJ (Receptacle)
WFRZ | M3x7.2
Terminal screw
BIMRIE N
Overseas standard L
SANT YV BIEEF R
s # 2E—2&17
Remark Right angle type (front),
2 piece connector

F7avIN=y
P25

F7aviN=y
P25

E .*ﬁ 250V-7A
Rating
B W 142.20.36
Poles
ML-100-P (PI
wmain | 00-P (Plug)
Combination | \y 100.BJ (Receptacle)
TR | M3x7.2
Terminal screw
BIIRIE .
Overseas standard L)
Pal VN i1 N
it # 2E—2&AT
Remark Right angle type (back),
TR F 2 piece connector

Pitch (mm)

7.62

F7avN=y
L

“ AN s

FT74—=IRTA YIS TT .
recognized for field wiring

D

| REXBIIEEDPBETY .

mark is available upon request when ordering

17




e e e
* :)itiﬁ?ﬁ TERMINAL BLOCKS

IR
SATO PARTS

*9ﬁﬁ?ﬁ TERMINAL BLOCKS

HEIRZT
SATO PARTS

| ML-100-CS

mFEEY F
Pitch (mm)

7.62

*FEATDEETT

mFEEY F
Pitch (mm)

E .ﬁ' 250V-7A
Rating
B W 142.20.36
Poles
ﬁnﬁ:ﬁﬁﬁ _l\‘/_IL-100-P(PIug)
Combination |y 100.CJ (Receptacle)
IR | M3x7.2
Terminal screw
=2avsal g -
Overseas standard “
5 & ANL—REAT 2E—REAT
Remark Vertical type, 2 piece connector

A72aviN=y
P25

ML-250-S2GYS/F (tLAXD/AER[HERD)

& l250v-10a
ating

® ¥ ~

Poles 2~8

2 S ELAARXY . M3X6 Sems screw
(RERS | F BERMRY.M3XT2
Screw with a square washer
BRI .

Overseas standard ORVEFOH @ A

A72avIN=y

| ML-250-S1BYS/F (tLRXD/BESFEXRD)

KFE1TDERTY

mFEEYF
Pitch (mm)

7.62

mFEEYF
Pitch (mm)

7.62

7.62 option parts »P.25
ML-740-W1RF
E B
Rating 250V-10A
B B 18.12.16.20.24.32.40
oles
WFRZ | \3x7.2
Terminal screw
= 5 BIIE .
SEFREEYF Overseas standard “

Pitch (mm)

7.62

KFEATDEETY

mFREY F
Pitch (mm)

KFEATDERTY

mFREEYF

Pitch (mm)

10.0

ATavIN=y
>p.25

ML-260-S2G3YS/F (tLAXD/BERFFEXD)

E | o50v-20A
Rating
B B 2810
oles
e S:tELAXY M4X6 Sems screw
e A | AERARY Max8
Screw with a square washer
BHNRIE :
Overseas standard ®“XF®& ®@ A

AT avIN=y
>p.25

ML-270-S1B3YS/F (tLRXD/BEEFEXD)

XFE1TDERTY

ImFEEYF
Pitch (mm)

XFE1TDERTY

BFHLYF
Pitch (mm)

E R osov20n
ating

B ~

Poles 2~9
s | STHELARXRY M4X6 Sems screw
[REAY FmERMRY MAxS
Screw with a square washer

BIIRIE :

Overseas standard ORVEFOH ®@ A

A72avN=y
P25

KFEITDERTY

mFREEYF

Pitch (mm)

10.0

Terminal screw

& 250v-104

ating

DT -

Poles 2~8

e~ | S tLzZU.M3xE S

W?Z\y R ems screw

F: BERMFRI M3X7.2
Screw with a square washer

BRI

Overseas standard

ORMxFOZ @ A

F72avN=y
>P.25

| ML-740-W1BF

E 18

Rating

250V-10A

LETR

Poles

8.12.16.20.24.32.40

o

Terminal screw

M3x7.2

BN

Overseas standard

F72aviN=y
>P.25

| ML-260-S1B3YS/F (tARXD/BEEFEXD)

E & 250v-204
ating

B B 5810

Poles

eSS S:ELAXY M4X6 Sems screw
e o | F AERAXS MAx8

Screw with a square washer

BIRIR :

Ovelrseas standard ®“XF®}} ®@ é‘

F7avN=y
>P.25

| ML-260-S2H3YS/F (LLAXD/BELFEXD)

E | o50v.20A
Rating
BB 2810
Poles
TS S ELARRY M4X6 Sems screw
e A | AERARY M4x8
Screw with a square washer
BIRIE :
Overseas standard ®“XF0)& ®@ A

*F7aviN=y
>P.25

| ML-270-S2G3YS/F (LLAXD/BERFEXD)

E 250204
ating

B ~

Poles 2~9

s | STELARRXY M4X6 Sems screw
[ RERSF mERMRY MAx8
Screw with a square washer
BIMRIR :

Overseas standard ORNEHFOH ®@ A

F72aviN=y
P25

18

)

FTA—=IRTAYIIHETT. @ SD [FEXEHAREDPBETT
mark is available upon request when ordering

[H US recognized for field wiring

| ML-270-S2H3YS/F (L LARRS /BEEMFEXRD)

XFE1TNERTY

mFREEYF

Pitch (mm)

10.0

ML-50-S1BXS/F (LA

XFEATDERTY

ImFEEYF
Pitch (mm)

10.16

XFE1TDERTY

mFEEYF
Pitch (mm)

10.16

ML-51-S1BXS/F (£AL2A

AT ER

XFE1TDERTY

mFEEYF

Pitch (mm)

10.16

ML-77B-BYF

E & 2500200
Rating
1w ~
Poles 2~9
D S:ELARXY M4xX6 Sems screw
e A | AERARY Max8
Screw with a square washer
BIRIR :
Ovelrseas standard ®“XF®& ®@ A

F7avIN=y
P25

X/ BERMHERD)

E _1% 250V-15A
Rating
1w ~
Poles 1~20
i v S:ELAXY M4x8 Sems screw
[ HEES | FmEmefxy MAXE
Screw with a square washer
BIRIR :
Overseas standard “

F7avN=y
i [

ML-50-W1BYS/F (tARXD/BEEFEXD)

BRIy F
Pitch (mm)

10.0

Terminal screw

E & | 250v-20n
ating

DT

Poles 2.3
WFERZ | \axs

it &

Remark

F 73> /X—Y:ML-300-C (h/\—)
Optional parts:ML-300-C (cover)

ML-50-S1BYS/F (tLRXS/BESHEXRD)

HFEATDEATT
mTrEEYF

Pitch (mm)

10.16

E & 250v-15a
ating

BB 50

Poles
- S ELRXY M4x8 Sems screw
[ BERTF mERRT MAx8
Screw with a square washer

B :

Overseas standard n

F72aviN=y
>P.24

XD/ BEEMERD)

E 18

Rating 250V-15A

B0

Poles

N S:ELRXY M4X8 Sems screw
[RERT |F mEefRY MAxs
Screw with a square washer
B N

Overseas standard “

F72avN=y
=

mFEEYF

Pitch (mm)

10.16

E &

Rating

300V-25A

LET

Poles

2~8

R

Terminal screw

M4x8

BRI

Overseas standard

0) -\ YN

F7aviN=y
>P.25

KFEATDERTY

mFREEYF
Pitch (mm)

10.16

E M o50v.15A
Rating
% # ~
Poles 1~22
w5 a5 | ST EARRY M4X8 Sems screw
[ SRERY |FmERMR Maxs
Screw with a square washer
B .
Overseas standard “

F7aviN—=y
>P.24

| ML-50-W3BYS/F (£L2x5/BERfE%S)

E M o50v-15A
Rating
w
Poles 20
S S:AZXY M4x8 Sems screw
e A | AERARY M4x8
Screw with a square washer
IR -
Overseas standard “

AT avi=y
>p.24

| ML-51-S1BYS/F (tLAXD/BESFERD)

= & 250v-15
ating
B W ~
Poles 1~22
s | SiHELARXRY M4X8 Sems screw
cRPEY |FmERMR Maxs
HFEATOEETT erminal SCreW | s ew with a square washer
o TBHNRNE \
mFEEYF Overseas standard N
Pitch (mm)
A72aviN—=y
10.16 >P.24
ML-750-W1BF
E M o50v-15A
Rating
B B 112.16.20.24.32
oles
WFRZ | \35x8
Terminal screw
. SBHNRNE .
mFEEYF Overseas standard N

Pitch (mm)

10.16

F7avN=y
i

“ AN s

FTA—=IRTAYIVTHIETT. @ SP [FEXEHAEEDBETT .
mark is available upon request when ordering

recognized for field wiring

19



* :)Rﬁ?ﬁ TERMINAL BLOCKS

IR
SATO PARTS

*9ﬁﬁ?ﬁ TERMINAL BLOCKS

HEIRZT
SATO PARTS

| ML-280-S1B3YS/F (EARXD /BEEHFEXD)

KFEATDEETY

mFEEY F
Pitch (mm)

11.0

MFRATDERTY

mFREEYF

Pitch (mm)

11.0

| ML-280-S2G3YS/F (LLRRS/BEEMFEXRD)

E & o50v.20A
Rating
m ~
Poles 2~8
EPS. S:AZRXY M4x6 Sems screw
e A | AERARS Max8
! Y| Screw with a square washer
BRI :
Overseas standard ®“XF®& ®@ A‘

IEFEEYF
Pitch (mm)

FTavN=y
i

ML-280-S2H3YS/F (LLAXD/BERFEXD)

E &

Rating 250V-20A
%ole? 2~8
- ﬁiﬁgew E ggéz; :)MA':AX46X88ems screw
Screw with a square washer
Oveifeit*sﬁtaﬁiard ORNExFOH ®@' A

mFEEYF

Pitch (mm)

ATavN=y
BRIz

| ML-5300-M4

mFREYF
Pitch (mm)

ML-5100-M5

mFEEYF
Pitch (mm)

21.0

ML-5000-M6

mFEEY F
Pitch (mm)

27.0

| 11.0

R, s5El

ML-5200-M4

E & 2500207
Rating
1w -~
Poles 2~8
Y S ELRAXY M4x6 Sems screw
e A | AESARY Max8
! W'l Screw with a square washer
BIRIR :
Ovelrseas standard ®“XF®& ®@ A

F7avN=y
P25

E M | 500v.40A
Rating
w
Poles 2.3
SFRD | \axg
Terminal screw
BHLRAE :
R DN &

F7aviN=y
e

Panel-throgh type, High voltage type

E 1%

Rating

300V-25A

LT

Poles

2~8

gy S a3
b a5
Terminal screw

M4x8

BIVIRIE

Overseas standard

0) -\ YN

IEFREYF
Pitch (mm)

F A=A
P26

| 13.0

| ML-5100-M6

E & leoov-e0n
ating

% # ~

Poles 1~15

WFRZ | Msx12
Terminal screw

BILRE )
Overseas standard L\ @ A

mFREEYF

Pitch (mm)

7A=Y
>P.26

| 21.0

| ML-5000-M8

E & | 600v-100A

Rating

B -

Poles 1~15

WFRZ | \iex16
Terminal screw

BRI .
Overseas standard DN &

mFREEYF

Pitch (mm)

A72aviN—=y
P26

| 27.0

£ B 600v-30a
ating

B ~

Poles 2~8

WFRD | M4xs
Terminal screw

BIRIR ' @
Overseas standard b\ @ A

F72aviN=y
>P.26

E &
Rating

600V-75A

LETI

Poles

1~15

TR
Terminal screw

M6x12

BRI

Overseas standard

b WERYN

F72avN=y
G

£ 5 eoov-1504

1%ﬁole? 1~15
Terﬁ'ﬁ“irr{iﬁ:ralzszew M8x15 (7f) hexagonal
Oveir?egt*s%ﬁiard O &

F72aviN=y
>P.26

)

" E T —IRTAVUSIHINTT .
[H US recognized for field wiring

Y@@

| SEXEHAREDSBETT .

mark is available upon request when ordering

N5 HTHE  solder type

| ML-40-S1AXS/F (tLAXD/BESFEXD)

EShE

LB
=

&
=

|l S e
R =
A

XFE1TDEATY

mFEEYF

Pitch (mm)

7.62

ML-77A-AXF

mFEEYF

Pitch (mm)

7.62

KFE1TDERTY

mFEEYF
Pitch (mm)

XFE1TNERTY

mFEEYF

Pitch (mm)

10.16

E M 2500104
Rating
B 20
Poles
S5 | S ELRRIY.M3X6 Sems screw
1 RERY | F mERART.MAXT.2
Erminal SCreW | grew with a square washer
B \ :
Overseas standard ON ®@
fis &= WmE - N\EfF/1102 78T (1 0.8)
Remark Solder/.110Q.C. (t0.8) terminal

F7aviN=y
P24

| ML-41-S1AXS/F (tLAXD/BESFERD)

E & | o50v.10A
B Rating
' B ~
Poles 1~20
w5 sy | ST ELAARRXIM3X6 Sems screw
T RS |F mERAR.MIXT 2
HEAATOBETT — Screw with a square washer
Ove’rseas standard oW 0@
g s & WF L A\SHF/1108T8F (1 0.8)
Ry 7 Remark | Solder/.110Q.C.(t0.8) terminal

Pitch (mm)

7.62

£ B 300v-15
ating
B # ~
Poles 1~6
WFRZ | \3x7.2
Terminal screw
BRI .
Overseas standard ®“ A
fis &= WmF - N\ EfF/1102 78T (1 0.8)
Remark Solder/.110Q.C. (t0.8) terminal

F7avN=y
> P.25

ML-260-S1A3XS/F (tLAXD/BERMFEXD)

A72aviN—=y
P24

ML-250-S1AXS/F (ELAXD/BESMFEXY)

E 1B

Rating 250V-10A
LT ~
Poles 1~6
s s | ST ELAXI . M3X6 Sems screw
(o SRERY |F mEReR.MIx7.2
HFRTOERTT — Screw with a square washer
Ove:'seas standard O EFOH @ A
fis & WF - N\EfHF/1102 78T (1 0.8)
WYEEY Remark | Solder/.110 Q.C.(t0.8) terminal

Pitch (mm)

7.62

E M 2500207
Rating
B 6.8
Poles
S5 | StELARRY M4X6 Sems screw
[ RERT |F mEefRT MAxs
Screw with a square washer
B :
Overseas standard ®“XF@& ®@ A
fis &= WF N\
Remark Solder type

F7avN=Y
=

ML-50-S1AXS/F (ELRXS /BESFEXRY)

FTTavN=Y
L

ML-270-S1A3XS/F (tLAXD/BESFEXRD)

E M| o50v.20A
Rating
B ~
Poles 1~7
s | SitELARXRY M4X6 Sems screw
D BERY P mmefry MAxe
e e erminal SCréW | graw with a square washer
BIIRE :
KFEATDEETY Overseas standard ONxFoH 0@ A
. s & WF AT
"'ﬁ?.ﬁﬂtj 7 Remark Solder type
Pitch (mm)
10.0 el pp.25

E M o50v.15A
Rating
BB 420
Poles
S s S ELARXY M4X8 Sems screw
[ RERT |F mEefRY MAxs
Screw with a square washer
B .
Overseas standard “
fis = [ SAVZ L (7
Remark Solder type

F7avN=y
P24

option parts

ML-51-S1AXS/F (LLRXS/BESHEXD)

E M o50v.15A
Rating
B A 20
oles
e S ELRXY M4X8 Sems screw
[REAY FmERMRY MAx8
5 _ Screw with a square washer
KFEIATDEETY .
Overseas standard
fis & BT L N\
¥Ry F Remark Solder type

Pitch (mm)

10.16

A7aviN=y
>p24

“ AN s

FT74—=IRTA YIS TT .
recognized for field wiring

D

| REXBIIEEDPBETY .

mark is available upon request when ordering

21




e e e
* :)ﬁﬁ?ﬁ TERMINAL BLOCKS

IR
SATO PARTS

* 9ﬁﬁ?ﬁ TERMINAL BLOCKS

HEIRZT
SATO PARTS

| ML-77B-AXF

mrEEYF
Pitch (mm)

10.16

KFEATDERTY

mTEEYF
Pitch (mm)

11.0

E | 300v-25A
Rating
% # ~
Poles 1~6
WFRY | vaxs
Terminal screw
BIRIE .
Overseas standard ®“‘ A
5 = T L N\ZHF/187T2TiRF (t0.8)
Remark Solder/.110Q.C. (t0.8) terminal

A7avN—=y
> P.25

ML-280-S1A3XS/F (tLRXD/BEEFEXRD)

BRIy F
Pitch (mm)

11.0

E M asov20n
ating

B ~

Poles 1~6
S+ | S:iEARXY M4x6 Sems screw
[REAY FmERMRY MAxS
Screw with a square washer

BILRIE :
Overseas standard NP0z 0@ A

fis &= WF N\

Remark Solder type

ATV~
P25

E | 250v.10A
Rating
B 20
Poles
WmFRY | v3xs
Terminal screw
SBIRR -
Overseas standard “
fis & B N\VERF
Remark Solder type

F7aviN=y
> P.25

| ML-1

| ML-3182 | ML-24
E & | o5v.3a E | o50v.6A
Rating Rating
B B ~
Polos 3.5.10 Poles 1~20
mTEEYF mFEEYF
Siehinm RNz Pitch (mm) I
— Remark Solder type 8.0 Terminal screw M2.6x5
ML-150-S | ML-150-M
[—
E M | Ac380v-25A E | Ac380V-35A
Rating Rating
L
BB 2 F-F-illll'l'l'lll’l' B® |0
Poles Poles
P . % " : w25
"ﬁj'ﬁf(t/?: Terjﬁnﬁi;l screw M2.5 x5 !Hﬁp?rﬂgl(i"/?: Terﬁin?al screw M3 x 5.5
5 .
S (RS 2 (Solid Wire) : ¢1.0mm~¢2.0mm — (AR % (Solid Wire) : ¢1.0mm~¢2.6mm
Wire of Range | 4% (Stranded Wire) : 0.75mm?~2.0mm* 8.45 Wire of Range | #4#5 (Stranded Wire) : 0.75mm?~3.5mm?

mFEEYF
Pitch (mm)

B & iosv10a
ating
BB 13510

oles
fis & o AN 21 (b
Remark Solder type

| ML-3391-C

mFEEYF
Pitch (mm)

|ML-3161-C

= & 300V-15A
Rating TUV:250V-15A Eaﬁ,f 250V-6A
1w ~
Poles 2~18 B ]
> 2 Poles 1~20
WTEZ | M35x8
Terminal screw : -
; . , . M3x6
BZR Ly F Ovefeyat??ﬁiard @“ A BEREEYF Terminal screw
Pitch (mm) Pitch (mm) - A=t ML-3161
NN =] —I& N -
>P.24 10.0 Remark | Without cover ML-3161
E & . E 18
Rating 250V-20A Rating 250V-15A
[T ~ B
Poles 2~6.8.10.12 Polos 1~20
TR WFR
Terminal screw M4x8 Teruniwﬁig;lzsc/rew M3.5%6
BPRECYF BARE | QY 0@ By F BIIRIE \
Pitch (mm) O¥erseasisiandaid Pitch (mm) Overseas standard N
F7av =y fis = HN—=1UIE ML-1765
11.0 »P.25 11.0 Remark | Without cover ML-1765
ML-2015-C ML-11-30F
E
Rating 250V-6A E .13 250V-30A
ating
B B 120
oles
wFEEYF ol meren mFEEYF
Pitch (mm) Pitch (mm) S35
% % | H/—mLIZ.ML2015 o RPRY | M5x12
11.0 Remark | Without cover ML-2015 15.0 erminal serew
ML-900 ML-11-50F
E | 600v-60A
Rating = & 500v-504
*ﬁ & ating
Poles 2~5
WFRZ | M5x12 L SR P
Terminal screw Poles
wFEEyF BARME | ) A s wFEEyF
Pitch (mm) Overseas standard Pitch (mm) [TEL S
& £ |#7va>/s—YML-900-C(H/3—) Terminal sorew | M6%12
15.0 Remark Optional parts:ML-900-C (cover) 16.0

E & o50v.6A
Rating
B -
Poles 1~20
HERZ | M3x6
Terminal screw
fis & HN=7UIE ML-3391
Remark Without cover ML-3391

22

@ ®
“ c US recognized for field wiring

° ST —IRTA YU THIETT. @ SD [FEXEHAREDPBETT
mark is available upon request when ordering

“ AN s

FTA—=IRTAYIVTHIETT. @ SP [FEXEHAEEDBETT .
mark is available upon request when ordering

recognized for field wiring



*yﬁﬁﬁ?ﬁ/j 70:/5 ~/I\o_“j TERMINAL BLOCKS/OPTIONAL PARTS

HEIRZT
SATO PARTS

*yﬁiﬁ?ﬁ/j 70:/5 >I\°_‘y TERMINAL BLOCKS/OPTIONAL PARTS

HEIRZT
SATO PARTS

24

ML-40/ML-41 F7aviN—2
ML-40/ML-41 OPTIONAL PARTS

| ML-77 #7%3>/X—Y ML-77 OPTIONAL PARTS

Option Parts HN— BRI AIN-BfEE | HIN-BFRY | AERAEE | PN\ VAASE | DvY/N\—2B2P | Jv2/N—£A3P
No Cover Name plate Cover installation bracket Cover screw Angle bracket Solder terminal Jumper 2P Jumper 3P
"| ML-40-3C | ML-40-3K | ML-40-3I1 | ML-40-3J | ML-40-3L1 |ML-40-3G1 |ML-1000-3H1|ML-1000-3H2
~= by ¥ - \ \
= -[ & B W -~ b\, \\\\
> B = LY e
Parts No. Q;J Jj e \/ \/’
ML-40-S1BXS/F O O O O o O* O O
ML-40-S1BYS/F O O O
ML-40-W1BYS/F O O
ML-40-W3BYS/F O O
ML-41-S1BXS/F O @ O O O O O
ML-41-S1BYS/F O O
ML-40-S1AXS/F O O O O O O* O O
ML-41-S1AXS/F O O O O O O O
*ERHERATEERA  *Marked option parts cannot be used together.
AR EROA T ay N —VIE2BEET A . SRR F A (ML-40-W1BY S/F.ML-40-W3BY S/F) [CIEZERICENEEA. Note:These cannot be used for 2-tier and 3-tier type.
ML-1/ML-50/ML-51 #F73avin—"y)
ML-1/ML-50/ML-51 OPTIONAL PARTS
Option Parts HIN— FEAR HN—BffEE AN—BfFRD AAERAAER RN\ AAE R
No Cover Name plate Cover installation bracket Cover screw Angle bracket Solder terminal
' ML-50-4C ML-50-4K ML-50-411 ML-40-3J ML-50-4L1 ML-50-4G1
\3_ > ?F“‘" =~ o _‘?
- J 8B b © _
> & = 4
Parts No. L = o
ML-50-S1BXS/F O O O O Oo* o
ML-50-S1BYS/F O
ML-51-S1BXS/F O O O O O
ML-51-S1BYS/F
ML-50-S1AXS/F O O O O o o
ML-51-S1AXS/F O O O O O

*FRERTEREA

*Marked option parts cannot be used together.
AR EROF T ar—VIE2BRET A . SREHT A (ML-50-W1BY S/F.ML-50-W3BY S/F) ICIEZERICEhEEA.

Note: These cannot be used for 2-tier and 3-tier type.

| ML-1000-4H1 ML-1000-4H2 ML-1000-4H5 ML-1000-4H6 ML-1000-4H9

3 > W \\ \ \. s \\ b

Parts No. ’>/ \\/ \-\\/ \2\\/ \-\\‘\/
ML-50-S1BXS/F O O O O O
ML-50-S1BYS/F O O O O O
ML-51-S1BXS/F O O O O O
ML-51-S1BYS/F O O O O O
ML-50-S1AXS/F O O O O O
ML-51-S1AXS/F O O O O O
ML-50-W1BYS/F O O O O O
ML-50-W3BYS/F O O O O O
ML-1 O O O

A circle (O)shows matching of option parts and terminal blocks.

O LRI RELER TY . ZMOBRICIETEATEE LA,

| ML-270 #7%

3/N=—") ML-270 OPTIONAL PARTS

No Cover Cover Jumper 2P Jumper 3P Jumper 2P Jumper 3P
| ML-77A-C ML-77B-C ML-1000-3H1 ML-1000-3H2 | ML-1000-4H5 | ML-1000-4H6
N N Y b
-~ BN, ¥ \\\\ 3\ \\‘\ :
Parts No. \/ \-/ SN SN
ML-77A-AXF O O O
ML-77A-BYF O O O
ML-77B-AXF O O O
ML-77B-BYF O O O
ML-70 F7%avin—y ML-30-AP F7¥3viNn—" ML-100 #733rviNn—)
ML-70 OPTIONAL PARTS ML-30-AP OPTIONAL PARTS ML-100 OPTIONAL PARTS
No Jumper 2P Jumper 3P No Jumper 2P Jumper 3P No Cover
" | ML-1000-3H8 | ML-1000-3H9 " | ML-1000-3H4 | ML-1000-3H5 "| ML-100-C
N > N\ AY
9 \ k. . \ \ y \ \ 3 \\ \
Parts No. e ol Parts No. \'\/ N Parts No.
ML-70-A O @) ML-30-AP O O ML-100-AS O
ML-100-BS O
ML-100-CS O
ML-250 #7¥3aviN—"y ML-260 #7<avis—y
ML-250 OPTIONAL PARTS ML-260 OPTIONAL PARTS
No Cover Jumper 2P Jumper 3P No Cover Jumper 2P Jumper 3P
" IML-250-3C |ML-1000-3H1 |ML-1000-3H2 " |ML-260-4C | ML-1000-4H3 | ML-1000-4H4
b 5 N AN
3y W\ AN N\
Parts No. \/ N\ Parts No. \/ "
ML-250-S1BYS/F O O O ML-260-S1B3YS/F O O O
ML-250-S2GYS/F O O O ML-260-S2G3YS/F O O O
ML-250-S1AXS/F O O O ML-260-S2H3YS/F O O O
ML-260-S1A3XS/F O O O

Option Parts HIN— Sy IN\—% 8 2P v N\—%E8 3P v N—%8 2P
No. Cover Jumper 2P Jumper 3P Jumper 2P
ML-270-7C ML-1000-4H5 ML-1000-4H6 ML-1000-4H9
\ \\ N \ N \\
Parts No. \_\/ \_\\/ Byt
ML-270-S1B3YS/F O O O O
ML-270-S2G3YS/F O O O O
ML-270-S2H3YS/F O O O O
ML-270-S1A3XS/F O O O O

ML-20/ML-280/ML-350 #7<avin—*) ML-740 #F7avin—y
ML-20/ML-280/ML-350 OPTIONAL PARTS ML-740 OPTIONAL PARTS
Option Parts HIN— vV IN—%8 2P| vV /N\—£8 3P Option Parts HIN— v IN—2B 2P | IvV/\—%8 3P
No Cover Jumper 2P Jumper 3P No Cover Jumper 2P Jumper 3P
"|ML-280-8C | ML-1000-4H7 |ML-1000-4H8 " |ML-740-C2 ML-1000-3H1 |ML-1000-3H2
N ) \ N
D ¢ N b | \\ \\\\
Parts No. s SN Parts No. \/ \/
ML-20 (FRAN—HE) O O ML-740-W1BF O O O
ML-280-S1B3YS/F O O O ML-740-W1RF O O O
ML-280-S2G3YS/F O O O
ML-280-S2H3YS/F O O O
ML-280-S1A3XS/F O O O
ML-350 (ML-350-C) O O

A circle (O)shows matching of option parts and terminal blocks.

OFNEERFIRELERTY . ZMOBRICIEIEATEE LA,

25



*:)Kﬁ?ﬁ/j 7:/3 yl\o_‘y TERMINAL BLOCKS/OPTIONAL PARTS

IR
SATO PARTS

iR

26

ML-750 F73aviN—7
ML-750 OPTIONAL PARTS

Option Parts HN— Sy \—2B 2P v I)N\—%B8 3P v )N\—%EB 2P
No Cover Jumper 2P Jumper 3P Jumper 2P
' ) MrL-750-C2 ML-1000-4H5 ML-1000-4H6 ML-1000-4H9
. L - 3 3
o= N\ O\ N,
Parts No. Y \\/ \\/ N\
ML-750-W1BF O O O O
ML-5000 #7avin—7
ML-5000 OPTIONAL PARTS
Option Parts AN AN AN— B2~
No Cover Cover Cover Cover screw
| ML-5000-C1 ML-5000-C2 ML-5000-C3 ML-1000-B1
— W F
Parts No. e T/ g
ML-5000-M6 @ O O O
ML-5000-M8 O O O O
ML-5100 # 73—y
ML-5100 OPTIONAL PARTS
Option Parts AN A= A= g
No Cover Cover Cover cover screw
’ ML-5100-C1 ML-5100-C2 ML-5100-C3 ML-1000-B1
Parts No. i/ i g %
ML-5100-M5 O O O O
ML-5100-M6 @ O O O
ML-5200 # 73—
ML-5200 OPTIONAL PARTS
No Cover Cover Cover cover screw Jumper 2P Jumper 3P
"| ML-5200-C1 ML-5200-C2 | ML-5200-C3 | ML-1000-B1 | ML-1000-4H10 | ML-1000-4H11
Parts No. :
ML-5200-M4 @ @ O O O O
ML-5300 #7oavin—Y M3/M3.5/M4ixF&a B A7 avin—"J
ML-5300 OPTIONAL PARTS Optional parts for M3/M3.5/M4 screw terminal blocks
Option Parts AN— HN— TJ-3A  |TJ-3B-3/-3.5/-4
No. Cover Cover . @g @ TJ3A
ML-5300-C1 ML-260-4C . : " Lo
: - Option Parts i .
" N No. | 8 : AT
— __—— = u U Eﬁ;{tﬂtﬂj WA
Parts No. ’ color : @B @R x?;g?ggfwmbf
ML-5300-M4 O O £ 30V-3A

ZOBREERLIHETEIRETFEEFDERERITTHILRTEEEA,

A circle (O)shows matching of option parts and terminal blocks.

OFIERATRERERTY .

ta1—XRILY—

F-700. F-710.
F-720 >')—X

F-700. F-710. F-720 >V —Xl&, AXAEFEICH DM %
AZARUVTCER I BIETEHMIENAIREREM T, (UL
C-UL RREUSEH)

F-700, F-710, F-720 series have dovetail design, which can
be interlocked together to make multiple poles. (UL, C-UL
approved)

Lazer marked serial number is on each product.

OZNZNDARFICL— @®F-700. F-720>Y— @F-700, F-720 ¥V—Xlc =~ @&Y'—XIc 1P BaERFFICAME
YP—Y—H—TREGEES Zl& DIN L—JLIZED (31 —XBRIRTIERER D HMEELTLESDZR< 1P i
ZHE, I FIRE, Y178, IFE—JLR (F-1000-S1) ZFA=,

(DIN L—)LERRFICIETETY)

@ Rotation stopper (F-1000-S1)
is provided. (No need when
mounting on DIN rail)

@® F-700 and F-720
series are DIN rail
mountable.

@ Fuse carrier with blown
fuse indicator is provided
for F-700 and F-720 series.

@ Lazer marked serial
number is on each
product.

DIN L—JL -
JXRJVEUS ]

DIN rail / panel
mountable.

b1 —XBHRT G U BRI HE

Can be interlocked
together to make
multiple poles.

Blown fuse
indication

Ea—XMILT—ERT Y2 —LRHFED
2 DD REZE TR T oI

Screwless Terminal BlockxFuse Holder

F-750 >J—X

@7« A—7O77
(RERHLLEE)
@ Finger protect

QR Vig{E—DT
Iy FEER]

@ One-touch Connection

@D ECHRATEE

@ Jumper wiring

@ DIN L—JLBEUT [ AT8E
@ DIN-rail mountable

@EfE U TIEtRATHE
@ Slide to joint

HEIRZT
SATO PARTS

27



Eai—XFI5—

FUSE HOLDERS

IR
SATO PARTS

Ea1—XFIVS — EFuseHoLDERS

HEIRZT
SATO PARTS

*ﬁﬂiwjﬂ( I:J.—XZI'\)DQ“— Waterproof In-Line type

| F-800 | F-810
250V-7A 250V-7A
T I8 ¥ RPN D ED TEAHEEBNEBTIEE0V T & ¥ BRI BIED TEHHERNETIEE0V
MAX MAX

(RS % Up to 50V for the exterior of a unit

that people can easily touch

K & IPEBRAKRA T N BftimT
Remark Waterproof rating :IP66 Solder type

RIS % Up to 50V for the exterior of a unit

that people can easily touch

5 & IPEBBAIKRA 7 I\ B timTF
Remark Waterproof rating :IP66 Solder type

(3.0) (3.0) #EE1—X (3.0) (3.0)
#HEbE1—X Mating Fuse (mm)
Mating Fuse (mm) ©6.4x30
$5.2x20 $6.35%30
239 164 [11.0 $15.0
‘ ‘ ‘ 23.9 269  |11.0
(63.8) Il |
3.7 (74.3)
25
U FERT A U FERSTE
Terminal Size Terminal Size ‘
~[S
~| 2 PPN
|~

‘ —-..a“"r “‘,
' <—>| . y " S " |<—> '
0-J)v9 NS iRF N ST ERF
(BREBAZE) 504w MR O-ring Terminal Terminal JOXy Mg (BREALE)
(Wire insertion Rubber Tube Rubber Tube  (Wireinsertion
direction) direction)

Stage3 : 2.6mm — 2.8mm (VSF 0.75m?)
Stage2 : 2.2mm — 2.5mm (VSF 0.5mm?)

Stagel : 1.5mm — 2.1mm (VSF 0.3mm?)
|

i

BN BB Oy M LTS ER AL q

Cut a tube in accordance with outer-diameter.

ZBBIBFIKH 7 IV Multi-Purpose waterproof capsules ¥HFRERFMBLTVENDSDDTEILTT.

iz &

Remark

IP66REIKZA T
Waterproof rating : IP66

%I Various uses

@ LED £t

Waterproof and finger-protect for connection point

@/ \> T FIFHER

Waterproof and finger-protect for soldered point.

- Pt
[N

s &

Remark

IP66R5KZA T
Waterproof rating :IP66

{E5MA%I Various uses

@EERY—T

Waterproof and finger-protect for connection point

of crimp-terminal.

O EEE R T

Waterproof for connection point of bullet-terminal.

¥ N\ ERFFHRFOHADINFT)REENVERADT. AL 1— AR E—EL TTERDEEIFF-800. F-810%Z &H5K&HEELY,
% Solder terminals are not supplied with F-800-C and F-810-C. if you want to use as a fuse holder,order F-800 / F-810.

28

| F-750

Babkai—X

Mating Fuse (mm)

$6.4%30
$6.35%x30
$6.35%x31.8

E &
Rating

250V-15A

BN

Overseas standard

i %

Remark

A7) 21— L A#E#R DINL—ILXIS
One-touch connection,

DIN rail compatible.
»EEHIEP.27

» detail P.27

2= PZA
} P.35

#Ewebai—X
Mating Fuse (mm)

$5.2%x20

F-200-N

BEEbai—X
Mating Fuse (mm)
$6.4%x30
$6.35%30
$6.35%x31.8

B R7)1—LRiEHBe1—XFISE— screwless type

BME : PCigFba—XFHINS— PCBtype

E M jo5v.50
Rating
B ' @
Overseas standard “ @
" = EHEL T B TR
Rﬁ « Can be interlocked together to make
emar multiple poles.

F7aviN=y
> P.35

F-300
~ E ﬁ
Rating 250V-5A
O
Poles 1.2.3

#BRbE1—X

Mating Fuse (mm) —— ]
»5.2x20 Overseas standard A @&

E &

Rating

250V-10A

BRI

Overseas standard

G“ us

ATavIN=y
’ P.35

#l X VRFEa—X

A — Screw terminal type

Mating Fuse (mm)

®5.2%x20

F-700-AL

E _1% 250V-10A
Rating
B :
Overseas standard s
& = EHEL TEBLDFIRE
Rﬁm Tk Can be interlocked together to make
ema multiple poles.

F7avN=y
> P.35

f & o50v.10a
ating

mE | aw

Overseas standard

BEE1—X EHEL TEABLATHE. DINL — LSS
Wi Free ) s & Can be interlocked together to make
Remark multiple poles,

#Ewebai—X
Mating Fuse (mm)

$6.4%x30
$6.35%x30

$6.35%31.8

Overseas standard

% ) & 250V-10A
ating
AR s

s &

Remark

XS BRAERE T

EHEL TR FIRE. DINL—ILS3S
Make-to-oder Product,

with blown fuse indicator,

Can be interlocked together to make
multiple poles, DIN rail compatible.

7A=Y
’ P.35

$6.4%X30 DIN rail compatible.
$6.35%30 Y
6.35%31.8 »P.35
F-7111
E 18
Rating 250V-10A
#EwEE1—X
Mating Fuse (mm)
6.4x30 BB i
®6.35X30 Foles
$6.35%x31.8

29



Eai—XFI5—

FUSE HOLDERS

IR
SATO PARTS

Ea1—XFIVS — EFuseHoLDERS

HEIRZT
SATO PARTS

| F-720

#Ewabi—X
Mating Fuse (mm)

®10.31%38.1

#EwEE1—X

Mating Fuse (mm)

$10.31%38.1

E &
Rating

250V-20A

BRI

Overseas standard

G“ us

s &

Remark

EHEL T BB FTRE. DINL—ILSES
Can be interlocked together to make
multiple poles, DIN rail compatible

ATavIN=y
’ P.35

#Ewabai—X
Mating Fuse (mm)

$10.31%38.1

E &
Rating

250V-20A

F-730

#eki—X
Matching Fuse (mm)

®15%50

BB N\ FETFE1— XKV —

Mating Fuse (mm)

$5.2%20

#EwEE1—X

Mating Fuse (mm)

$5.2%x20

F-700-BL

E &

g &

Remark

. 250V-10A
Rating
YIRS N
Overseas standard s
N B /1872 TiwF (10.5)
EHEL TR BILHETRE

Solder/.187 Q.C.(t0.5) terminal 2
side barrier,

Can be interlocked together to make
multiple poles.

F7aviN=y
> P.35

Overseas standard

= & o50v-20A
ating
BARE | oy

fis &

Remark

SRR AMTRIRRE T

EHEL TR FTHE. DINL— IS
Make-to-oder Product, with blown
fuse indicator,

Can be interlocked together to make
multiple poles, DIN rail compatible

ATavIN=y
’ P.35

E M| 5o0v-30A

Rating

s & DINL—JUZT > &y F THS AT L
Remark Snap-on DIN rail mount

ATavIN=y
’ P.35

Solder type

HEWaki—X

Mating Fuse (mm)

$5.2x20

F-700-B

E 18

Rating 125V-5A
BRI " @
Overseas standard “ @
" = EHEL TR TR
RZmark Can be interlocked together to make

multiple poles.

E A
> P.35

E _1@ 125V-5A
Rating
BIRIR W
Ovelrseas standard “ @
N F B EHEL TR FIRE
s & Solder type,
Remark Can be interlocked together to make

multiple poles.

F7avN=y
> P.35

#wabai—X
Mating Fuse (mm)
$6.4%x30
$6.35%30
$6.35%x31.8

#EwEE1—X

Mating Fuse (mm)

$6.4%x30
$6.35%x30
$6.35x31.8

Overseas standard

= i
Rating 250V-10A
e | ow

& &

Remark

ST E . AR,

EHEL TR TR, DINL—ILS3 S
Make-to-oder Product, with blown
fuse indicator,

Can be interlocked together to make
multiple poles, DIN rail compatible

7A=Y
' P.35

F-3321-N

#wabai—X
Mating Fuse (mm)

$6.4%x30
$6.35%x30
$6.35x31.8

Overseas standard

E
Rating 250V-10A
B | aw,

fis &

Remark

N> EHF/1872 71 F (10.5)
EEL TR HRTRE, DINL—ILES
Solder/.187 Q.C. (t0.5) terminal

Can be interlocked together to make
multiple poles, DIN rail compatible

A7avIN=y
» P.35

E M | 250v.10A

Rating

LT ~

Poles 1~3

" & N EfHF /1872 7T (10.5)
Remark Solder/.187 Q.C.(t0.5) terminal

30

| F-7101-N

Eakbai—X

Mating Fuse (mm)

$6.4x30
$6.35%x30
$6.35%x31.8

E .ﬁ 250V-10A

Rating

& = N ERHF/1874 78 F (10.5)
Remark Solder/.187 Q.C.(t0.5) terminal

A PR 21— X RN —

In-line type

250V-10A (BB B EDHRDH

E 125V-7A E 18 2BIMEBTIE50V MAX.)
#eb1—X Rating WAE1—X Rating éSgiV rI:]/Iea;:t.)where accesible outside
Mating Fuse (mm) Mating Fuse (mm) auip
©5.2%x20
F-7175
250V-10A (BZICiN B EDERDH
E & RHLERTIZE0V MAX.)
Rating (50V Max. where accesible outside
equipment)
faﬁf 250V-3A
EAb1—X EROME T —MREYIIL TRERA< #HEE1—X
Mating Fuse (mm) fis &= 7EELN, Mating Fuse (mm)
Remark Please use it by cutt ing it at any
position. ©5.2%x20
= jf 250V-10A fati:f 125V-3A
#web1—X
Mating Fuse (mm) Mating Fuse (mm)
$6.4x30 $6.4%30
|F-7160
E & o50v.6A
Rating

#Ewebi—X
Mating Fuse (mm)

$6.4%x30

F-500-01A2

=

#@AE1—X

Mating Fuse (mm)

$5.2x20

HE: PCikFka—

T & 250V-10A (Japan. UL. C-UL)
Rating 250V-2.5W/6.3A (VDE)
BHNRR

Overseas standard

c“us @

WG —
F-500-01B2

BWaE1—X

Mating Fuse (mm)

$5.2x20

PCB type

T % 250V-10A (Japan. UL. C-UL)
Rating 250V-2.5W/6.3A (VDE)
BILRIE

Overseas standard

Ns &




Eai—XFI5—

FUSE HOLDERS

IR
SATO PARTS

Ea1—XFIVS — EFuseHoLDERS

HEIRZT
SATO PARTS

|F-100 |F-105
E 18 E &
Rating 250V-10A Rating 250V-10A
sl oS e Fuse o oA
Mating Fuse (mm) Ovelrseas tard L-\Y @ Mating Fuse (mm) Ovelrseas (o L-\Y @
©5.2%x20 ©5.2x20
F-115 | F-110
E 18 E 18
Rating 250V-6A Rating 250V-10A
#akbai—X
Mating Fuse (mm)
#Heki—X T Ie ] . $6.4X TBINRIE -
Mating Fuse (mm) Ove:si;’;t st:rﬁiard s q)g_ 35320 Overseas standard N @
©5.2x20 $©6.35%X31.8

| F-500-01A1

#Ewabai—X
Mating Fuse (mm)
$6.4x30
$6.35%30
$6.35%31.8

% #% | 250V-10A(Japan.UL.C-UL)
Rating | 250V-2.5W/2.5A (VDE)
BILRE

Overseas standard

[\ YR

| F-500-01B1

#EwEbai—X
Mating Fuse (mm)
$6.4%x30
$6.35%30
$6.35%x31.8

E & | 250V-10A(Japan.UL.C-UL)
Rating 250V-2.5W/2.5A (VDE)
BN

Overseas standard

c“us @

R Solder type
F-400-01A2 F-400-01B2
T & 250V-10A (Japan. UL. C-UL) T K 250V-10A (Japan. UL, C-UL)
Rating 250V-4W/6.3A (VDE) Rating 250V-4W/6.3A (VDE)
BHRIE . TBHMRIE N
N Overseas standard s & N Overseas standard s &
[=] — =) —_—
Mating Fuse (mm) N EfHF /1872 7T (10.5) % VDERR Mating Fuse (mm) N ERHF/1874 T8 F (10.5) % VDERR
fis & < s & <
©5.2x20 Remark | Solder/.187 Q.C.(0.5) terminal ©5.2x20 Remark | Solder/.187 Q.C.(t0.5) terminal
*Exclude VDE *Exclude VDE
F-75 F-7155
E M o50v.10A
Rating
E M o50v.5A
wEE1—X S HEEE1—X Rating
Mating Fuse (mm) 7 ' (D Mating Fuse (mm)
Overseas standard L) @
©5.2%x20 ®5.2x20
F-600 Series
E 18 g E 18
Ratng | 220VBA 8 | 250v-30A
BINRIE - 3 .
Overseas standard s o ;ﬁﬂﬁ‘ﬁd d s
T : . S verseas standar
Mating Fuse (mm) fid & |\ HHF/187875T (10.5) Mating Fuse (mm) 6.4X30mmNt 1— X EIFTERAIER
Remark | Solder/.187 Q.C.(t0.5) terminal s & | zun.
©5.2%x20 $6.35%x31.8 Remark

F+vv 7 Cap color: ®GY @B

$6.4x30mm fuse is not available

32

| F-95-N
faﬁf 250V-10A
: N :;5 250V-10A ‘
HE&E1—X HWRE1—X .
Mating Fuse (mm) Mating Fuse (mm) BIHRIE C-\Y
Overseas standard | © T=Us
©6.4x30 ©6.4%30
F-4000-B | F-a50
= &= €
A ) 300V-25A
E .5 losov-10 ” Rating
. . BASE | ey
#wRb1—X Overseas standard | © TeeUS
#WEE1—X . Mating Fuse (mm)
i SBIIRE -
Mating Fuse (mm) Overseas standard A\ ®6.4%30 5 = N AT /25082 T8 F (10.8)
$®6.4%30 $6.35%30 Remark Solder/.250 Q.C. (t0.8) terminal
| F-400-01A1
T K 250V-10A (Japan. UL. C-UL) E % 250V-10A (Japan. UL. C-UL)
Rating 250V-4W/10A (VDE) Rating 250V-4W/10A (VDE)
O SEA IR . AL BHNREE \
Maﬁj[i:glf:ulse(?m) Overseas standard s Mjaalir?gtf—‘ie(ﬁm) Overseas standard s
$6.4%30 N EHF/187 2T F (10.5)) % VDE $6.4%30 N EHF/18T2T#HF (10.5)) % VDE
$6.35%30 o risi‘ﬁ<|o| /.187 Q.C.(t0.5) terminal $6.35X30 o I’sf'Km /.187 Q.C.(t0.5) terminal
Remark older/. .C.(10.5) termina Remark older/. .C.(t0.5) termina
6.35%x31.8 i DR $6.35x31.8 *Exclude VDE
= j;‘ﬁ 250V-10A fatijf 250V-10A
BHAE1—X SBIHAG C Beb1—X BRI ey
MaLﬁr?gliulse(i\m) Overseas standard L\ @ Mz_ti:gtﬁ_}se(r;n(m) Overseas standard “ @
PO % = S1413/187 A THF (t0.5) D0axs9 i & S1413/187T 4T HF (10.5)
ASZLE TiRF (0. X & NV THF (0.
$ggg§g? 8 RZmark Solder/.187 Q.C.(t0.5) terminal $gggxg? 8 Remark Solder/.187 Q.C. (t0.5) terminal
F-7159
%atirﬁ 250V-10A
HAE21—X B | ey @AE1—X E | o50v-30
Mati:g Fuse (mm) Overseas standard | © ® Matir?g Fuse (mm) Rating
PO % = S1413/187 8 THF (10.5)
= N s THF (10,
$ggg§g? 8 Remark Solder/.187 Q.C.(t0.5) terminal ®10.31x38.1
F-31
= :;5 250V-30A faﬁjf 250V-30A

BRE1—X

Mating Fuse (mm)

$10.31x38.1

#weki—X

Mating Fuse (mm)

®15%x50

33



Eai—XFI5—

FUSE HOLDERS

IR

SATO PARTS

Ea1—XFNEGE— FTaviN—"

FUSE HOLDERS/OPTIONAL PARTS

HEIRZT
SATO PARTS

34

| F-60-1C

F-60FH/\—
B0 ﬁ? . Cover for F-60
Product Description AEDHULIEHS
Cover cannot be used for UL.
RS F-700At1—X+v) 7 ARk et
Pro ducltmDescription Fuse carrier for F-700 with blown
fuse indicator
A= F-700BE21—XF+U7
Product Description | Fuse carrier for F-700
s omE F-720At1—X+v ) 7 AR e
- Clt:nDeSCr' ion | FUSE carrier for F-720 with blown
! PioN | £,se indicator
A= F-720Rt1—XFvU7
Product Description | Fuse carrier for F-720
L= F-750Bt1—XF+vU7
Product Description | Fuse carrier for F-750

- *ECEBANLBECT
t.". A B Fuse It is all Normal blow type (PSE class B)
|FG-10 | FG-20
AC125V-0.1A.AC125V-0.2A. AC250V-4A. AC250V-5A.
: AC125V-0.3A.AC125V-1A. o faﬂ r’f AC250V-BA. AC250V-7A.
= i AC125V-1.5A.AC125V-2A. AC250V-8A. AC250V-10A
Rating AC125V-3A.AC125V-5A. -
AC125V-6A.AC125V-7A. g | EIIVUR
AC125V-8A. AC125V-10A Main insulator | Ceramics
TGt | HIA BISHE &>
Main insulator | Glass Approvals er
BEHK | <€ (1A~10A) it % SHAMEIAL
| ®5.2X20mm | Approvals 1 ASE5IEPSEST S 4L | $6.4X30mm | Remark filled with arc-quenching material.
| FG-30 | FG-40
AC125V-1A.AC125V-1.5A.
AC125V-2A.AC125V-3A. %= #& | AC250V-5A. AC250V-10A.
G) AC125V-4A. AC125V-5A. . = Rating AC250V-15A. AC250V-20A
AC125V-6A.AC125V-7A. '
faﬁjf AC125V-8A.AC125V-10A.
AC125V-12A.AC125V-15A, -
AC125V-20A.AC250V-1A. Xt | AT
AC250V-2A.AC250V-3A. Main insulator | Glass
AC250V-4A.AC250V-5A
THEBH | HTA
Main insulator | Glass ESH& @
SIS Approvals e
| ®6.4x30mm | | Approvaie ®10.31%38.1mm
| F-7170
AC250V-5A. AC250V-10A.
faﬁjf AC250V-15A. AC250V-20A.
. AC250V-30A
BB | p BT (UL9AV-0)
ain insulator
ER{SHRIE
| ©15x50mm || sorouals
E&E7L—KFea— Low-Plofile Blade Fuse
| F-1500 | SA-2020-H
DC58V-2A. DC58V-3A. E 18
. AC/DC58V-20A
3 o B Eati:fg' DC58V-4A. DC58V-5A. Rating C/DCS8V-20
DC58V-7.5A. DC58V-10A EETL—NE1—X
\’ N #E&ba1—X | Low-Profile Blade Fuse:
N ’ .. KJ;/ Mate Fuse-Link | F-1500-2A. F-1500-3A. F-1500-4A.
SF | 150 66205 F-1500-5A. F-1500-7.5A. F-1500-10A
: § &5 TV NEARF. 183
applicable standard| JASO D 612-6 Remark For PC terminal. Horizontal type
| SA-2020-V
E & | ac/pessv-20n
ating
EETL—RE1—X
#W&kEa1—X | Low-Profile Blade Fuse:

SA-2020-V. SA-2020-H&ZE A X—

SA-2020-PERA X—

Mate Fuse-Link

F-1500-2A.F-1500-3A. F-1500-4A.
F-1500-5A. F-1500-7.5A. F-1500-10A

iz &

Remark

T NEAR . iR
For PC terminal. Vertical type

SA-2020-P

K=

Product Description | Fuse Puller

Ea—-XT75—

F-700.F-710.F-720b 12— XF v U7 ERE A X—

| F-200-C
F-700-FC1

F-710-FC2

=
—

N

>
N &P )

F-720-FC1

o -;;.:.h;;,
?

F-1000-S1
™

F-200MH/N\—
ﬁrﬁ'ﬂﬂg . Cover for F-200
Product Description AEOHULIER
Cover cannot be used for UL.
R EEE F-700BE1—XF+U7

Product Description

Fuse carrier for F-700

i

Product Description

F-710REx1—XFvU7
Fuse carrier for F-710

iR

Product Description

F-720BE1—XF+vU7
Fuse carrier for F-720

b

Product Description

F-730Mta1—XF+U7
Fuse carrier for F-730

BOHE | 1P BAERREEIEE—ILN
Product Description | Rotation stopper

N F-700-A. F-700-AL. F-700-B.

BEE S

Mating Product

F-700-BL.F-710-A.F-710-B.
F-720.F-720-L.F-730.F-750




§’-T§ﬂ- INDICATOR LIGHT

IR

SATO PARTS

il_-j:ﬂ INDICATOR LIGHT

HEIRZT
SATO PARTS

LED 754 LED INDICATOR LIGHT A

| DB-25-F

L J
W N

| DB-15-F

[ =

KM E RUH—REx—bp
Main body materials| Polycarbonate
BiAAR | TRV FRE

Installation Snap-in

Af&& Body color : @B OCR @ GY
)t LED color : @R @G @ OR

AMEME

Main body materials

RUH—REx—b
Polycarbonate

TR FERE
Snap-in

RblFTiE Hiﬁji_ik‘,
Panel hole (mm) Installation
$5.1
| DB-9-F

NbF~+iE
Panel hole (mm)

®6.1

F3te LED color : @R @G @BL @ OR

AMEME

Main body materials

et
Brass

BAHH

Installation

Fu gt
Nut tightening

Akt Body color : @B OCH

| DB-17-F

RblFTi%
Panel hole (mm)

LY X Lens color : @R @ G

Y @BL

KYDRERBIIFLODERVET ., XBLARMIEHIZUT7ERYET,

NMATE

Main body materials

]
Brass

A

Installation

Fy Nt
Nut tightening

N lHtHE
Panel hole (mm)

A&t Body color : @B OCH
Ft LED color : 2&%3¥ Bi-color ®R @ G

AMEME

Main body materials

et
Brass

EEpES

Installation

>N
Nut tightening

NbVF~HiE
Panel hole (mm)

®8.1

A& Body color : @B OCH
Xt Lens color : @R @G Y

KYDRABIEAL O DERVET .

AMEME

Main body materials

et
Brass

BAAH

Installation

Fu gt
Nut tightening

Akt Body color : @B OCH

LY X Lenscolor : @R @G Y

KYDRKBIEAL O DERVET .,

| DB-30-F
o
¥ u

| DB-13-F

A 7 b7
Panel hole (mm)

RbVFTiE
Panel hole (mm)

NRblFTiE
Panel hole (mm)

RblTtiE
Panel hole (mm)

R\F~+ik

Panel hole (mm)

®8.1

HIZABEN TEVELAD T BERAVETT,
*Protective resistor is not built in.

KA E RUH—Rx—h
Main body materials| Polycarbonate

BAAR | TravFRE

Installation Snap-in

Akt Body color : @B OCR @ GY
)t LED color : @R @G @ OR

AEME

Main body materials

RUH—Rx—h
Polycarbonate

A

Installation

FygEft
Nut tightening

33t& LED color : @R @G @BL ® OR

ANAME | &

Main body materials| Brass
WffAR | vt
Installation Nut tightening

{4 Body color : @B OCH

L> Xt Lens color : @R @ G
MYDREAXBIEF LI ERVET,

Y @BL
MBLARITRG I UT ERYETS .

AAHE | &l

Main body materials| Brass
BfAR | FYNMET
Installation Nut tightening

A& Body color

. @B OCH

3¢ LED color : 2% Bi-color ®R @ G

AEME

Main body materials

Bifl
Brass

B AR

Installation

YN
Nut tightening

A& Body color
L X#& Lens color

@B OCH
:ORO®G Y
KYDRABIFFL O IERVET,

AEME

Main body materials

Bif
Brass

A

Installation

gt
Nut tightening

)t LED color

:OR®G OOR

36

| DB-4-FB

R~k

Panel hole (mm)

AAME | &l

Main body materials| Brass
WffAR | Tyt
Installation Nut tightening

Ra\F+ik

Panel hole (mm)

Ra\F+ik

Panel hole (mm)

NblTiE
Panel hole (mm)

$8.3

| DB-41-F

o=

Rd\F~Ti%k

Panel hole (mm)

$8.3

3¢t LED color : @R @G @ OR

NI E

Main body materials

RUH—Rx—h
Polycarbonate

A

Installation

FugEft
Nut tightening

33t LED color :

ORO®G OOCR

AEME

Main body materials

RUD—RR—b
Polycarbonate

BfH

Installation

Tt
Nut tightening

33t LED color :

ORO®G OOCR

AEHE | RUD—Rx—H
Main body materials| Polycarbonate
BfAR | ToavFEE
Installation | Snap-in
i = N>EfF11047 (10.5) % H
Remark Solder/.110Q.C.(t0.5) terminal

A& Body color :
L Xt Lens color : @R @ G
XYDORABIFFL VI ERVET,

Ow @B
Y @BL
KBLARITEHEZUTERYET

KA E RUH—REx—hk
Main body materials| Polycarbonate
BEAAR | TavFRE
Installation Snap-in
5 = N&f+11047 (10.5) 3%
Remark Solder/.110Q.C.(t0.5) terminal

k& Body color :
L Xt Lens color : @R @ G
MYDREXBIEF LI ERVET,

Ow @B
Y @BL
KBLARITEHETU T ERVET .

AAttE | &R
W Main body materials| Brass
Ré\Htik BfAR | Fos
Panel hole (mm) Installation Nut tightening
®8.1 3t LED color : @R @G @ OR
| bB-7-F

R\FTiE

Panel hole (mm)

NMAHTE

Main body materials

RUBD—RER—k
Polycarbonate

BAAH

Installation

gt
Nut tightening

3¢ ® LED color :

R\tTiE

Panel hole (mm)

$8.3

O®R ®G OOCR

AMATE

Main body materials

RUH—RR—b
Polycarbonate

A

Installation

Fu gt
Nut tightening

38 LED color :

OR ®G OOR

KRAEME RUBH—RE—k
Main body materials| Polycarbonate
AN DRy FEE

Installation | Snap-in
~ + 5 & 1) —NHRAT

Pa é éﬁgg"ﬁnm) Remark with lead wires
®8.3 ZAfAe Body color: OW @B

. L>Zts Lens color :@R @G Y @BL
HYDEXBEAL O DVERVET, %BLARKTEEIUT7ERYET,
| DB-41-FL

>

‘——

Ndb\FFik

Panel hole (mm)

$8.3

KRAEME RUBH—RE—k
Main body materials| Polycarbonate
BiAAR | TEvFRE
Installation Snap-in
fis & 1) —NgAS
Remark with lead wires
A& Body color: OW @B

Xt Lenscolor :@R @G Y @BL
XYDORXBIEFL O IERVET, XBLARMEHIZUT7ERYET,

37



§7T§ﬂ INDICATOR LIGHT

HEIRZT

SATO PARTS

Y ~
*J V3 knoss

HEIRZT
SATO PARTS

38

ZFA 754y NEON INDICATOR LIGHT

| BN-3802
AAME | &
Main body materials| Brass
F= &% | DACI00V~125V
Rating @ AC200V~250V
it & N BSEF
Remark Solder type

L>ZAHZ—Lenscolor: OC @R @®G ®OR

KCOFERBIFF LD ERVET .

BN-5665
AEME | RID—RE—b
Main body materials| Polycarbonate
F #&x | ©AC100V~125V
Rating @ AC200V~250V
s & N ESIEF
Remark Solder type

L>ZHZ—Lenscolor: OC @R @G ®OR

HCDRABIIALVDERVET,

BN-5701
ANMEE RUH—RE—k
Main body materials| Polycarbonate
T F &% | ©AC100V~125V
Rating @ AC200V~250V
5 # N EfHEF
Remark Solder type

L>ZXHZ— Lens color: OC @R @G @®OR

BN-9-D

HCDEABIIALVDVERVET.

AMEME

Main body materials

RUBH—RE—h
Polycarbonate

® AC110V
@ AC220V

) Rating
s &

Remark

1) —Rgfs
with lead wires

L>ZHh5— Lenscolor: OC @R @G ®OR

KCOFERBIFFLODEBRVET .

BN-60
KA E RUH—Rx—h
Main body materials| Polycarbonate

BAAR | ToavFRE

Installation Snap-in
EF &% |OAC100V~125V
Rating @ AC200V~250V
s & N EfHRTF
Remark Solder type

L>ZAHZ—Lenscolor: OC @R @G ®OR

HKCDRABIIALVDERVET,

BN-23
NEME | 7oV
: Main body materials| Acrylic
; Be £ &% | ©AC100V~125V
Rating @ AC200V~250V
& = N\81F-18747 (10.5) 38
Remark Solder/.187QC (t0.5) terminal

L>ZXHZ— Lens color: OC @R @G @®OR

HKCOEABIIALVDERVET.

XERIZ2BRCEVET OTITHRESLZL,
*#Please choose from 2 voltage types.

| BN-35
KA E RUH—Rx—h
Main body materials| Polycarbonate
T EF f&x | OAC100V~125V
Rating @ AC200V~250V
& & N BFHTF
Remark Solder type

L>ZXHZ5— Lens color: OC @R @G @ OR

XCORRBIIALVIERVET,

BN-5668
ANEE RUH—Rx—h
3 2 Main body materials| Polycarbonate
M@ T &% | D ACI00V~125V
a b, Rating @ AC200V~250V
i & N EfHRTF
Remark Solder type

L>ZAHhZ— Lenscolor: OC @R @G ®OR

BN-9-C

KCORRBIIALVIERVET .

ANAIE
/ Main body materials

RUH—REx—hk
Polycarbonate

®AC110V
@ AC220V

E g
Rating

i &

Remark

—NgeT
with lead wires

L>ZHhZ— Lenscolor: OC @R @G @®OR

HKCORABIIAL > IERYET .,

BN-9-E
KA E RUH—REx—hk
Main body materials| Polycarbonate
F x| OACT1I0V
Rating @ AC220V
fis & U —Rfgfs
Remark with lead wires

L>ZHhZ— Lens color: OC @R @G @®OR

BN-2

KCOREABIFF LV IERVETS,

RITE

Main body materials

7oL
Acrylic

E X

Rating

® AC100V~125V
@ AC200V~250V

i &

Remark

NE$18747 (10.5) 3%k A
Solder/.187QC (t0.5) terminal

L>ZXHhZ— Lenscolor: OC @R @G @OR

HCORABIZFLVIERVET .

BATRID, BF YVI, MICHEERERE - /N\UIT—>3>7T Line-up !

A great line-up including many other types and variations!

| K-210

ABS
Acrylonitrile Butadiene
Styrene

AMEME

Body material

AMEHZ—

Body color

B (&) Black
DXL Matte

NBEANF FU1.5
Hex key/width across
flats:1.5mm

HREETE
Recommended tool

BEIYTMME
Shaft diameter M

1E&H X M3X4 ( PO.5)
Set screw

SR PN

Screw size

1548 H5— Line Color : OW @R Y @BL

BXs17

Glow in the
dark type

K-220

ABS
Acrylonitrile Butadiene
Styrene

AEME

Body material

B (&) Black
DXHL Matte

AMEHS—

Body color

NAEEANT BU1.5
Hex key/width across
flats:1.5mm

HEESTE
Recommended tool

pro AN 1%
a&v MR
Shaft diameter ®6mm

XKIYAX )X M3X4 (P0.5)
Screw size Set screw

>4 15— Ring Color: OW @R Y @BL

LU (&)
K-300
AN E F10266
Body material Nylon66

AEHZ— B(®)
Body color Black

N TS5 ARSA N—EESMm
HRES TR Cross-head screwdriver
(shaft diameter 5mm)

Recommended tool

BES T NE ,
Shaft diameter ®3.2mm - ©3.0mm

NAVRZT M2.5X5
(P0.45)
Binding head screw

FIYAX

Screw size

F+v7HZ— Cap Color :OW @R Y @BL
LU (&)

BEXa147
Glow in the
dark type

K-230

Step 1 Step 2

Step 3

ALET,

te

DTS,

©)
-

Hold the line
from the side and to the shaft

upwards.

remove by shifting with a hex key.

BRREENSH RAEZ/NNFTIE IFREEHNSE
Sz, LicgsLT HRIYEIPIRC 1. EMSTICH

URHET.
{o
®

-

Tighten set screw Insert line from
the side then push
downwards

to complete
attachment.

MM E KA E

Body Material-
Body Color

71/—--B(B)
Phenolic-Black

AL TL—NiE

AHE

Body material Styrene

Acrylonitrile Butadiene HAZ

Spin plate Material

TIWIZILER
Aluminium alloy

Size

AMEHZ—

Body color

B(£) Black
DXJHEL Matte

L.M.S

HEBATR

HREESTE
Recommended tool

NEHBEANST BU1.5
Hex key/width across
flats:1.5mm

Applicable Tool

NEBEANF FO1.5
Hexagon socket set
screw keys #1.5

BEIvIMME

WA TN
Shaft diameter ®6mm

Shaft diameter

®6mm

FIYAX

XIOYAX
Screw size Set screw

1E®H 2T M3X4 (PO.5)

Screw size

>4 HZ— Ring Color : OW @R

LU (&)

BT
Glow in
the dark
type

ANERAZEDRD (KIFHFK)
M3x4 (P0.5)

Hexagon socket set
screws(cup point)

Y @BL Ab>7L—hkH5— Spin plate Color:
@B ®ROG Y ®BL OAG

,7

the shaft

Insert body into  Tighten with a
screwdriver

Step 1 Step2 Step 3
Y INIARERE  RSA/\—T Fyv %
ZUIAHFY, OHTE T, ZUIAHFY,

4

Insert cap

FWAR—ZATOET IHEENT S |

Easy installation in narrow spaces!

39



\ ) _y
') ¥ knoss

IR
SATO PARTS

\ ¥ _y
*J V3 knoss

HEIRZT
SATO PARTS

E—JVRN Plastic

| K-1-A |K-1-B
ANE#E |7/ KEmE | 7z/-) KEmE | 7z/-)
Material Phenol Material Phenol Material Phenol
BASME PSRN BASME FSIRSZ AN BASNE PSR AN
Max dia(mm) shaft dia | P6 Max dia(mm) shaft dia | ®6 Max dia(mm) shaftdia | ®6
(mm) 35 (mm) 25 (mm)
K-66 K-75
AEME |7/ AEME |7/ AEME |7/
Material Phenol Material Phenol Material Phenol
BASME SIS AN BASME SIS AN BASME SIS AN
Max dia(mm) shaft dia | P6 Max dia (mm) shaft dia | 6 Max dia (mm) shaft dia | 6
(mm) (mm)
m ®32 m M:®20/L:$30 mm
K-100 | k200
_ AEFE | KUH—Rzx—h
AHR | 72/ Material | Polycarbonate . E AEHE | ABs
N
= PSS AN
Ei*.ﬂ& . s’lr;aft dia | P6 -
Max dia (mm) XS v 7h BASNE (mm) XSS+ 7
S:d22/M:d25/ Sh(?nﬁmd)'a 6 Max dia (mm) po— s Max dia (mm) Sh(?;:nc)ﬁa 6
. . . Ay —~— Cap color :
L:d29 M:d16/L:922 ©GY OR @G ® OR @BL o115
K-210 | k220 | k230
AAEME AAME AAME
” Material | ABS . Vateria | ABS Material | ~BS
RAIME PO AN BRANE POINSEAN BRASNE PO AN
Max dia(mm) shaft dia | P6 Max dia(mm) shaft dia | 6 Max dia(mm) shaft dia | 6
(mm) (mm) (mm)
26
K-240
AHE | pps “ ~ AGHE | 710> ‘ AGHE | (0>
Material Material Nylon Material Nylon
RAIME PSINS S AN BRANE MY 7N | 3/ BRANE SIS+ 7~
Max dia (mm) shaft dia | 6 Max dia (mm) shaftdia | 35 Max dia (mm) shaft dia | 6
(mm) (mm) ; (mm)
$155 $10.3 P14
Combination Freely msabtama:! 4 aor £497 o
K-100-22RL
K-100-16CS K-100-22CL

i, #ow

K-100-16

K-100-22

' i-‘ l022AL
K-100-16AS

K-100-16RS

o KFME K A—KEK— N Body Meterial Polycarbonate

* Color @8 ®GY

' K-100-22CS
K-100-16CL

o KEME R H—HRZ— B Body Meterial Polycarbonate
* Color @8 @Gy @R ®0R @8BL @G

40

| K-351 |k-2195 | K-2605
ﬁ“ AEME | Frov AEHE |71/ AEME | 7T/—0
Material Nylon Material Phenol Material Phenol
BRAIME
S Max dia (mm) S s
= \\) \: ‘\77I\ Wil \: ‘\17|\ =1 ) I\: ‘\17|\
A shaftcia | 06 EXS:022/ | “qutda | o6 BANE shaftcia | 06
R iy (mm) S:$26/M:d33 (mm) Max dia (mm) (mm)
o14 /L:®40
K-2901 K-4070 K-4071
AAME | 7T/ ‘ AAftE | T/ - EME | 7/—)V
Material Phenol Material Phenol Material Phenol
BRASNME
Max dia (mm) S S
) \: ‘\77I\ =] Wil \: ‘\77I\ =1 ) I\: ‘\17|\
Exs:020/ | BTN o6 BANE AT arne (A
S:P23.5/ (mm) Max dia(mm) (mm) Max dia(mm) (mm)
M:®34/L:939.5 35
K-5010 K-5380-AM
AEME | 7/ e AEME | 7/ AAEME | 7z/—)
Material Phenol Material Phenol Material Phenol
BANE SRS 7N BASNE SIS 7h Max dia (mm) PO S AN
Max dia (mm) Sh(?]::n?ia 6 Max dia (mm) Sh(ar;:n(;ia 6 S¢’1 9/M¢22 Sh(ar;:n()ﬁa 6
36 26 /L:d26
K-8075-3.3 K-8075-6.1
AEME | 7/ AEME | 7/
Material Phenol Material Phenol
RANE SRS+ 7N BASE WSS Th
Max dia (mm) shaft dia | ®3 Max dia (mm) shaftdia | ®6
®14 (mm) ®14 (mm)
XAV Metal
| K-11 | K-12
AGHE | 7H3=94 | AEHE | 7H3=4 Bl KEHE | 7HI=4
Material | Aluminum i | Material | Aluminum H ‘ | Material | Aluminum
;Y e
BASE SIS Z AN BASE SIS Z AN BRASE FSISZ AN
Max dia (mm) shaft dia | 6 Max dia (mm) shaft dia | 6 Max dia (mm) shaft dia | P6
®18 () ©20 (mm) ®23 m

41



\ ) _y
') ¥ knoss

IR
SATO PARTS

CONNECTOR/
PIN PLUGS & JACKS

A/ M- ARIB—"ELTFT9%Y

HEIRZT
SATO PARTS

|K-20-3.3 | K-29-6.1 | k-32
_ e - ~ -
KAEME | FIVIZ UL f KEME | FINIZTL : ” AEHME | 7INIZTL
Material Aluminum Material Aluminum HM Material Aluminum
BASME PoIZAN RASME PSINZAN RASME PSINZ AN
Max dia (mm) shaft dia | $3 Max dia (mm) shaft dia | 6 Max dia (mm) shaft dia | 6
(mm) (mm) (mm)
AEME | FINI= L AAEME | FINIZIL KEME | 7II=ZTL
Material Aluminum Material Aluminum Material Aluminum
RAIME BRANE BRANE
Max dia(mm) B2 AN 5 Max dia (mm) PO VAN 5 Max dia (mm) PO VAN 6
haft di ® haft di & haft di ®
S:021/M:25/ | | ) S:p18/M:022/ || oy S:15/M:D19/ || oy
L:928 L:d25 L:d22
K-54
e
AAEME | 7IVIZTUL AEME | TIVIZTUL AEME | FIVIZIL
Material Aluminum Material Aluminum Material Aluminum
PSINSEAN BRANE PSSR AN BRASNME PSINSZ AN
Max dia(mm) shaft dia | $6 Max dia(mm) shaft dia | $6 Max dia (mm) shaft dia | P6
(mm) (mm) (mm)
AEME | FINIZTL - i -~
i i AEME | 7IVIZIL AEME | FIVIZYL
gttt Aluminum Material Aluminum [, Material Aluminum
UL
paIn e AN o6
Max dia (mm) o BASE 5w 7 BANE 5w 7h
Max dia (mm) sh(aft cila »6 Max dia (mm) sh(aft c)ila ®6
mm mm
. . A& Body color :
L:945/EXL:950 5 OAG $20
AEME | FINIZUL AEME | 7L
Material Aluminum Material Aluminum
BANE
BANE MG 7 o6 Max dia(mm) XSS+ 7 o6
q haft di haft di
by i) S:020/M:025/ || am)
25 L:30

a2k A% 2— CONNECTORS
| cN-70-A |cN-70-B
E B lactesvsa - E M| Ac125v-5A
ating Rating
[Tt LT
Poles 2.3.4 Poles 2.3.4
BSRRIE ERISARAE
Ap:ovals Ap:‘:ovals
E7 5% 4 Y4 PINPLUGS & JACKS
|eN-s
E & E 18
Rating DC12V-1A Rating DC12V-1A
im & INRIVERAF B = R
Remark Panel installation Remark Relay type
F+v 7t Cap color : @R @B F+v7t Cap color : ®R @B
CN-7017

E B pciovia

E B poqov.ia .
Rating

Rating

% = INZJVERAS
Remark Panel installation

fis = iR~
Remark Relay type

9—57'”'/9: J 79"’ “/7 BINDING POST/ TIP PLUG &JACKS

HEIRZT
SATO PARTS

#—37JU BINDING POSTS

| T-15 | T-16
T K| T-RE—3IFN E & | 7RIS
Rating Ground terminal Rating Ground terminal
3§ VIIBYHL | 7 . YIBYHL | T
\i‘% Knob removal | Head is removable ' Knob removal | Head is removable

A&t Housing color : O CH W3t Head color : OW @B @R @G Y @BL

42

| T-1
I
E & T—AZ—3FI i P E 18 .
Rating Ground terminal ! ! Rating 125V-10A
YIEWSEL | AFT : - Y IEWSL | AET
Knob removal | Head is not removable :'“-‘-' !'_'4‘ Knob removal | Head is not removable
A&t Housing color : O CH A& Housing color : @B @R
| T-12-12 | T-12-16
E | 425v.10A ' i E M| 1o57.10A
Rating Rating
— | YNIEWHL | TF : VY IERWSL | AET
l Knob removal | Head is not removable = i};‘ Knob removal | Head is not removable

A& Housing color : @B @R

A&t Housing color : @B @R




B=3FI " FIT¥Y% BINDING POST/ TIP PLUG &JACKS

X=IFIVFY 7’/‘\' 4%/ BINDING POST/ TIP PLUG &JACKS

HEIRZT
SATO PARTS

| T-45

I~ I
| T-6530
1 i
T-2
=
T-9
T 3

£ J& 125710

ating

YYIEWYSL | ET

Knob removal | Head is not removable

>4 H5— Ring color : @B @R ®G ® OR @BL

€ _1% 125V-10A
Rating
YIEWYSL | T
Knob removal | Head is removable

7448 Housing color : @B @R

E M| 1o57.10A
Rating
YISRUAL | T
Knob removal | Head is removable

A& Housing color : @B @R

E M| 1o57.10A
Rating
YRIRUHL | FA
Knob removal | Head is not removable

A&t Housing color :OW @B @R @®G Y @BL

B 12sv-10

ating

YVIIEWYSL | 7T

Knob removal | Head is removable

A& Housing color : @B @R

£ J& 125710

ating

YIIEWYSL | AT

Knob removal | Head is removable

A4t Housing color : @B @R

£ J& 1 600v-30

ating

URIBWHL | B

Knob removal | Head is removable

7148 Housing color : @B @R

£ J& 1 600v-50A

ating

VSEBYSHL | T

Knob removal | Head is removable

A&t Housing color : @B @R

| T-375-12
! ! E & q25v.10A
Rating
= - | YUNIRWAL | '
] |} Knob removal | Head is removable
Atk Housing color : @B @R
| 7-381-12
2 e E .ﬁ 125V-10A
= = Rating
= = | YSIEWAL | BT
' ‘ Knob removal | Head is removable
Atk Housing color : @B @R
| T-1530
g g E B | 425v.10A
Rating
- e YYIRYSL | AT
l“-' f— Knob removal | Head is removable
A48 Housing color : @B @R
| T-3025-L
I-l l E B | 4o57.10A
Rating
v 3 YIBWSAL | T
] Knob removal | Head is not removable
d Atk Housing color : OW @B @R @G
W& - TJ-560. SA-2000-560. TJ-2167
| T-6500-16
.
' E & | 125v.30A
Rating
YIRYSL | AT
‘Hi"'.‘, *;E-E":; Knob removal | Head is removable
3 " Akt Housing color : @B @R
T-3830
E & o50v.30A
Rating
YIERWSL | AFT
T L i Knob removal | Head is not removable
. - Atk Housing color : @B @R
T-3
E & 500v-30A
Rating
YYIRYSL | AT
- 5. Knob removal | Head is removable
i a""

k& Housing color : @B @R

| TJ-2167

| TJ-1

| TJ-2

| TJ-10-A
-
|

Fv 744 TIP PLUG & JAC

E % .
Rating 30V-3A
BEE® TJ-4.TJ-563. SA-2000-563.

Mating product

T-3025-L

Atk Housing color : OW @B @R @G Y @BL

E 18

Rating

30V-3A

BAE®
Mating product

TJ-560.TJ-2167

Atk Housing color : OW @B @R @G Y @BL

E &
Rating

30V-3A

HBEEm
Mating product

TJ-4.TJ-563. SA-2000-563.
T-3025-L

Ak Housing color : @B @R

E & 30v.5a
Rating
HEAEM 2.
Mating product Ty-2-P

Ak Housing color : OW @B @R @G Y @BL

E & .
Rating 30V-5A
(LR 10 . o
Conbination TJ-2-P (Plug) +TJ-2-J (Receptacle)

Atk Housing color : OW @B @R @G Y @BL

M s0v5
ating

EAEM 2.
Mating product TJ-2pP

Atk Housing color : @B @R

| SA-2000-560

Rﬁﬁ 30V-3A

ating
BfAX |
Installation

TEF EBER) | €75V 1o

Plating (on metal) | Gold flash plating
BAEME | SA-2000-563

Mating product | (TJ-4.TJ-563.T-3025-L)

A&t Housing color : OW @B @R @G Y @BL

| SA-2000-563

ERE - 30v-3a
ating
BRFAR FYNRDIF
Installation With nut
fEEF CBER) | &7V a0
Plating (on metal) | Gold flash plating
BEB®E | A 2000-560 (TJ-560. TJ-2167)
Mating product

Akt Housing color : OW @B @R @G Y @BL

| TJ-1097

| TJ-2-P

| TJ-10-B

E & | 30y.50

Rating

BEE® | 1560, TJ-2167
Mating product

A&t Housing color : @B @R

E &
Rating

125V-5A

A&t Housing color : OW @B @R @G Y @BL

BAEm
Mating product

TJ-2-J. TJ-1.TJ-10-A

A&t Housing color : OW @B @R @G Y @BL

E &

Rating

30V-5A

A4t Housing color : @B @R




A—ZFIFITP¥ Y BINDING POST/ TIP PLUG &JACKS A—ZFINF TP % Y% BINoING POST/ TIP PLUG &IACKS

Fv7’

TJ -1 0 0 series

A&, AE6DiEFIROAEP
FEDSH.INTHTER!

No need to prepare several types of terminal
wires and carry them around!
This is the only one that solves the problem.

| TJ-100

ey S
BE7KYF X TJ-100-KA | TJ-100-KB | TJ-100-KC | TJ-100-KK | TJ-100-KY | TJ-100-KT

Compatible attachments

Foim 3R

P _ o 30V5A
Ha} 't’ + | Al 12550 | 30v-3A | sov-sA | CIXOMSyogy5a | gov-2A
]! n . Attachment rating 01038?_‘%57;;&“_

g . Atk Color of Handle: OW @B @R @G Y @BL
Flexible tip replacement

and combination!

TJ-100-KA TJ-100-KB TJ-100-KC
125V-5A 30V-3A 30V-5A
= TJ-100EMHEHET = 1 #TJ-100MAAHET = i #TJ-100MAAHET
e FEALEEE ne e FRLEEE

ERLZEE

#When used in
combination with the
TJ-100

Rating Rating Rating

%When used in
combination with the
TJ-100

%When used in
combination with the
TJ-100

| TJ-100-KK TJ-100-KY TJ-100-KT

30V-5A 300V-5A 125V-5A 30V-2A

C-100-C 73/3— | C-100-HC H#/\—

46

#*TJ-100EHEAEDHET
ERLEEE

*When used in
combination with the
TJ-100

KERIMERT BDHN—ICEOTREYET

#TJ-100EHHEDET
fERLEEE

*%When used in
combination with the
TJ-100

#TJ-100EHEAEDET
fERLEEE

*When used in
combination with the
TJ-100

TJ-200 T-100-KT+TJ-100 TJ-300 1)-100-KY+T)-100
( 30V-2A 125V-5A
| TJ-100-S °6e oo

TJ-TO0-R. B x 1

IEZD

TJ-TO0-KA x 2
TJ-T00-KB x 2 ﬁ"ﬂﬂi&a%ﬁiﬁ:
TJ-T100-KC x 2

47



AC7 7Ly 7)Y 7  acoutercurs

7“‘/ :/77“/57‘1& BUSHINGS/LUG TERMINAL STRIPS

48

AC 77hLybM ACOUTLET

| s-200-w | s-2008
E 18 E
m Rating AC125V-15A Rating AC125V-15A
\y e I WK | 7o s FEE BdHR | ToaoFEE
Installation Snap-in Installation Snap-in
' ; ERISARAE BUSRRIE
w App;:ovals App;:ovals
| s-250-w | s-250-8
E 18 E 18
m Rating AC125V-15A Rating AC125V-15A
- AR | xILD BHR | FVLD
Installation | Screw Installation | Screw
EXfSRRIE " BISHRAE
M Ap;ovals @ M Ap;::ovals
)7 cLps
|c-3 |c-a
30V- 3A L :30V-7A
_— 5A E .5 m:govsa
’ Rating ;8ﬁ S 1 30V-3A
50A N
Ny bt Wb N ZFF
fERAE XTI Wire connection | Solder

Wire connection

Screw

$/\—1& Boot color : @B @R

| C'1 00 ‘ BFSRE Patent registered

A

M3~MAD IS

T 18

Rating 30V- 5A
NIRRT ERG
fERHE | TN FHILLBEHHI X

Wire connection

Soldering * Crimping with pliers as a
temporary connection

For M3 and M4 screw heads $/\—& Boot color : OW @B @R @G Y @BL

| C-100-H ‘ﬁ%ﬂ?ﬂﬁiﬁ Patent registered

‘

M3~MAD I3

Wire connection

= & 300v-5n
ating

N AR
AR | VAN FBIEBEANT X

Soldering * Crimping with pliers as a
temporary connection

For M3 and M4 screw heads #/N\—& Boot color : OW @B @R @G Y @BL

| C'1 OO'X ‘ﬁ?ﬁﬁﬁ’;ﬁ Patent registered

;

ME~MBD x5

E & | 500v-20A
Rating
etk | N\
Wire connection | Wire connection Solder

For M5 and M6 screw heads 1/\—& Boot color : OW @B @R @G Y @BL

HETRMmESHEN! >
Movie of C-100

ﬁl!/!(((

| eI
:o,.o:'\,-

C-100-X fERAX—Y
M5~MBD & I H IS
For M5&M6 screw heads

e

$/\—%& Boot color : @B @R

C-100 ERA X—>

M3~MAD R IH IS
For M3 and M4 screw heads

7,4} BUSHINGS & GROMMETS & BUMPERS

BfIAR | 7Ry FERAS BfAR | 72y FERe
Installation | Push in . Installation | Push in
G <4
\ _T]Eﬁﬁﬁ ol ISARY—(TPE) . Insulation material 7A07L>34(CR)
nsulation material i BU-200-12 : d4a~Tmm
54— )L | BU-100-16 : ®5~10mm H 2 1 BU-200-16 : ®5~9mm
- EAV5F | BU-100-20 : ®6~13mm fEEAVHE | BU-200-20 : d8~13mm
Outer diameter | BU-100-25 : ®8~17mm OUtg; glaabrrleeter BU-200-25 : ®11~17mm
of cable BU-100-32 : ®12~24mm BU-200-32 : ®15~20mm
e IP67. 7L+ T 817 BHEE-BhK fii% IPE7. &1 7 Bl Hik
H5— color | @B @ GY Remark Gromet-Flexible type $5— color : @B Remark Gromet-Weather resistance type
BU-687 BU-692
BftAR | Tyar> WA | FVLED
Installation Push in Installation | Screw
TBH | oo £ VU ES =N
Insulation material Insulation material | natural rubber
BU-3270 BU-4796
BfFARX |
g BfIAT FYNEED T
Installation Installation With nut
Fiigtt | BERUIFLY
Insulation material | Polyethylene Ak T7x/—b
- . FiEEM Body : phenol
U I—RRhY/N— Insulation material | b : F0>
Remark Cord  Stopper Nut : nylon
BU-4801 BU-4850
BfTAR DRy FERE BftAR b SAI))
Installation | Snap-in Installation | Screw
Filgs | 7106 G | BEERUIFLY
Insulation material | nylon6 Insulation material | Polyethylene
575 LUG TERMINAL STRIPS
| L3522
BB i B W 1o.6.8.10.12.15.20
oles Poles
MAAR | 7LD RAAR | xS
Installation Screw Installation Screw
FiaEA Jx/—) TGt 7/
Insulation material | Phenol Insulation material | Phenol
s # N EHHT fis & NSRS
Remark Solder type Remark Solder type
L-4885
BH BB 35710
oles Poles
BAR | *TVIED WA | FVLED
Installation Screw Installation Screw
T |7/ -0 FEg | 7/
Insulation material | Phenol Insulation material | Phenol
s # N BRHEF it & N EfSRT
Remark Solder type Remark Solder type

| BU-200




7tY)— accessory

HEIRZT
SATO PARTS

NBARARIWAN—Y— 4 745/ -20FE HEX METAL SPACERS (4 TYPES) : 20

| SA-1000

rAE el
Material Brass

Plating

ZwirbHo%
Nickel plated

KRNI

Tightening Torque

M3%2  0.5N:m MAX
M4x>  1.2N-m MAX

SA-1000-M3**A M3 #R:XAX SA-1000-M4**A M4 #Z:*A SA-1000-M3**B M3 XA-*RX SA-1000-M4**B M4 XR-% R

Male-Female

18a

~+i%B Dimensional Drawing
60 L1

<+i%K Dimensional Drawing
70 L1

Male-Female

: I M
LY e

<FiER  Dimensional Drawing

Female-Female

L

y 1 epae] ©) -

Female-Female

~+H3%BK Dimensional Drawing
u

% o ‘ E \
M3P=05 . MAP=0T ) M3P=05 } i AN M3P=0.5 MapP=0.7 /| oy T M4 P=0.7

HE L1 L2 & L1 L2 HE L1 L2 & L1 L2
M308A 8.0 6 M408A 8.0 4.5 M308B 8.0 Bl M408B 8.0 j=¢C:1
M315A 15.0 6 M415A 15.0 8 M315B 15.0 B3 M415B 15.0 B
M320A 20.0 6 M420A 20.0 8 M320B 20.0 =gt M420B 20.0 Bi&
M330A 30.0 6 M430A 30.0 8 M330B 30.0 6 M430B 30.0 8
M340A 40.0 6 M440A 40.0 8 M340B 40.0 6 M440B 40.0 8

WFRRTFARY (ELARZRD - AERF%D)

SA-1010-C002

Replacement screw (sems screw/Screw with a square washer)

| sA-1010-C001
I Bz M3 ELAXRY
Product Description | M3 sems screw
Y ofE i R
b~ oo 55| Mo T | ML-40, ML-41.ML-250
| sA-1010-c010
Bz M3 ELAZRD
Product Description | M3 sems screw
ﬁ%ﬁﬂ: ML-260. ML-270. ML-280
= Mating product
| sA-1010-c012
= M4 ELARD
CO2 MAEAAAS Product Description | M4 sems screw
TSI ) PP
S ey 24 Mo | ML-260. ML-270. ML-280
| sA-1010-C054
‘_ BREE | M5 BB
Y cost us)_35 Product Description | M5 Screw with a square washer
XERER

Mating product

ML-11-30F. ML-900

COAD M5 71—
10fE §E

i M3.5 BESfRY
Product Description | M3.5 Screw with a square washer
TR ML-1.ML-260. ML-270. ML-280.
Mating product | ML-750
i M3 BEEHFRY
Product Description | M3 Screw with a square washer
TR ML-40. ML-41.ML-100. ML-250.

Mating product

ML-740.MI-77A

Y cir waseszss
@ oE 2 B

| SA-1010-CO81

081 M3ZY—37
y 10fE B
AL ALIE o

(LR ES

Product Description

M4 ELARD
M4 sems screw

X R R

Mating product

ML-50. ML-51

(LTS

Product Description

M3.5 ELRZRY
M3.5 sems screw

PUESEL

Mating product

ML-260. ML-270. ML-280

(LTS

Product Description

M4 BEEFFRD
M4 Screw with a square washer

R

Mating product

ML-20.ML-50.ML-51. ML-77B

i

Product Description

M6 BEEfTxY
M6 Screw with a square washer

R

Mating product

ML-11-50F

Mating product

iz M3 BEEfFRY
Product Description | M3 Screw with a square washer
MREE | \11.70. ML-260. ML-270. ML-280
Mating product
i E M4 BEEFFRY
Product Description | M4 Screw with a square washer
IR

ML-260. ML-270. ML-280. ML-5300

50

RKAZATICDOWT

@107 DARRBHERRIRBREDH FERBLEEINDIEDBD I DT, STELLS W RH
BEIFR—LR—IZELILEE N,

Oy O7 IR RERR CORMBBZ/BLCHEDIIN HRYTHZHRITERBOIHE L. RKIT
BOEEZFICIDEICRFTHDIEFBEDEBADTTEELILEEZ L,

01507k BERICEAMDABRZ—RIBE|ME L TRHESETWIEKEDTILMMEAICRD DB D&
EHEREZREEVTRESNTEDIIBR T OETARBERDIBH SN TVRWEENH DX
T ZDIH AR ZERTIRICRBOELSHEEEEION. K. AEZHPULTRELTEDET
M A—DELERNPRIE(SR) DFIEMEHEH T CERARE RER ICIRE - THREFOERZ
CEKD ECHERELILS W,

01507 ICEEEHDOARE . ERIDOKME - ik ENER DB EIF ER OXKE tRMIMBFERENET,

OEmDEISHRI DBER L REDODEZDRRBRZIENHDET,



— T e W P -
- 2y A J**:T:c::*_i
ey Smarketing@satoparts.co. jp

semexa0) 0120-70-7215

s-overseas@satoparts.co.jp

overseas s-shanghai@satoparts.co.jp [China]

23.11.30





